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NLIST MC,.MD,CND

LIST ME
.ENABL ABS
JENABL AMA
$SWR= 167400

(o |
IC mmgc-n-cuxm-a MACY11 30(1046) 16-DEC=-82 15:42 PAGE 57
EC 15:38

<TITLE KWVI1A DISAGNOSTIC MAINDEC=11-CNKWA-A

s*COPYRIGHT (C) 1982
s*DIGITAL EQUIPMENT_CORP.
s*MAYNARD, MASS. 01754

3

I
s*THIS PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDEC SYSMAC
s *PACKAGE (MAINDEC=11-DZQAC=C3), JAN 19, 1977,

L ]

$TN=1

.SBTTL OPERATIONAL SWITCH SETTINGS

3: SWITCH USE

e 15 HALT ON ERROR

e 1% LOOP ON TEST

e 13 INHIBIT ERROR TYPEOUTS

e 1 INHIBIT ITERATIONS

e 10 BELL ON ERROR

e 9 LOOP ON ERROR

e g LOOP ON TEST IN SWR<7:0>
.SBTTL TRAP CATCHER
.=0
;*ALL UNUSED LOCATIONS FROM 4=776 CONTAIN A '*.+2"
s«AND **JSR PC,RO" SEQUENCE TO CATCH ILLEGAL INTERRUPTS.
S«AND INTERRUPTS TO THE WRONG VECTOR.
*«LOCATION O CONTAINS A O TO CATCH IMPROPERLY LOADED
;-zscrons.
.:
uc'u;g I0TRD, 200 ;HANDLE BUSS ERROR.
.

DISPREG: LMORD O : : SOFTWARE DISPLAY REGISTER.

SWREG: .g%s 0 ::SOFTWARE SWITCH REGISTER.
JWORD  104,200,2 ;1F "B EVENT'ON Q-BUS IS

*CONNECTED ,WE NEED A WAY OF
:IGNORING ITS INTERRUPTS.

.=200

~MP a#START
JYP SFQSTART

SEQ 0002

~
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xwm olsasuosnc NDEC=11
'CNKWAA.P11 16-DEC -05 15:38 TRAP CATCHER SEQ 0003
| 5762 000210 000137 014046 JMP aroITST
5763 000214 000157 014136 JMP aroITST
g;gg 000220 000137 014216 JMP aroITST
5766 .=230
5767 000230 000137 001472 JNP NUSTART :WESTFIELD STARTING ADDRESS
5768 000240 =240
§7269 000240 000137 001456 mP NTSTSTR ;ALL TESTER TESTS
5770 -ur STARTED HERE.
144 ALLOWS PRODUCTION TO sxsacxse
g;;% .UP TO 16 CLOCKS.NORMAL=4
sm ' .SBTTL BASIC DEFINITIONS
(N -mnm ADDRESS OF THE STACK POINTER e« 1100 wee
(1) 001100 STACk= 1100
) LEQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
m -EQUIV [OT.SCOPE ::BASIC DEFINITION OF SCOPE CALL
(1) -mscsumsous DEFINITIONS
(1) 000011 HT= 11 ;CODE FOR HORIZONTAL TAB
(1 000012 LF= 12 :.cooe FOR LINE FEED
(N 000015 CR= 15 ::CODE FOR CARRIAGE RETURN
g 000200 CRLF= 200 +:CODE FOR CARRIAGE RETURN-LINE FEED
(1) 177776 PS= 177776 : :PROCESSOR STATUS WORD
(1 .EQUIV PS,PSW
(1) 177774 STKLMT= 177774 3 STACK unn REGISTER
(1) 177772 PIRQ= 17777 :PROGRAM INTERRUPT REQUEST REGISTER
) 177570 DSWR= 17757 ..unmme SWITCH REGIST s
(1 177570 DDISP= 177570 HARDWARE DISPLAY REGISTE
(1) esses THE FOLLOWING ODT START ADDRESS FOR SBC 11/21 IS ADDED
(1 170000 0DTST= 170000
(1N ; *GENERAL PURPOSE REGISTER DEF INITIONS
g 000000 RO= 20 :GENERAL REGISTER
't 000001 R1= 4] ..ceuem REGISTER
1t} 000002 R2= :;GENERAL REGISTER
(1) 000003 R3= : :GENERAL REGISTER
(" 000004 RL= T4 : ;GENERAL REGISTER
(1) 000005 RS= 15 :;GENERAL REGISTER
(1 000006 R6= 6 : ;GENERAL REGISTER
(1N 000007 R7= 17 : ;GENERAL REGISTER
(1 000006 SP= 26 ::STACK POINTER
m 000007 PC= [ 44 : :PROGRAM COUNTER
(1N :«PRIORITY LEVEL DEFINITIONS
%) 000000 PRO= 0 ::PRIORITY LEVEL 0
(1 000040 PR1= 40 $:PRIORITY LEVEL 1
1t} 000100 m; 100 SPRIORITY LEVEL i
N 000140 PR3= 140 ::PRIORITY LEVEL
(1) 000200 PR4= 200 S:PRIORITY LEVEL 4
(1) 000240 PRS= 40 ::PRIORITY LEVEL S
(1) 000300 PR6= 00 :PRIORITY LEVEL
ﬂ ; 000340 PR7= 0 ::PRIORITY LEVEL
(1) :*"'SWITCH REGISTER' SWITCH DEFINITIONS
(1) 100000 SWw15= 100000




>>

S —

L 1 L L L L L s e s L Lt L e L L L L s L L L e L e e L L L e s L s e e e L L e R e e e e e L L L L e L =

P I T e N JEE g e N R e R S X I T Jr QS Sy QP JPSEE R - S R . o e e i e T e R R e e e e e e e e R e )
W NN NN NN P N N NP NP N P P P N N N N NP NP N N N N P N N N N NP NP NP N P P NP NP P N N N N NP N P N N N N N N

£ 1
C§;1-CNKUA-A MACY11 30(1046) 16-DEC-82 15:42 PAGE 57-2

BASIC DEFINITIONS SEQ 0004
SWié= 40000
sSWwi3= 20000
swi2= 10000
SWil= 4000
SWwi0= 2000
Sw09= 1000
SW08= 400
SWo7= 200
SWwoé= 100
SWo5= 40

SWwos= 20

SW03= 10

sSwi2= &

Swo1= 2

sSWoo= 1

.EQUIV SW09,Sw9
.EQUIV SW08.S
.EQUIV SW07,Sw7
.EQUIV SW06.S
.EQUIV SWO5,SW5
.EQUIV

:«DATA BIT DEFINITIONS (BITOO TO BIT15)
BIT15=
BIT14=

.t
o
~
"

TIeRR WY
g

DODDDODDDDDD
bt bt ey b S St Gt B
o
W
([}

BITO4=

BIT02= 4

BITO1= %

8IT00=

.EQUIV BIT09.BIT9
.EQUIV BIT08.8IT

.EQUlvV BITO7,.BIT

.EQUIV 01702.0176
.EQUIV 8178‘.8175
.EQUIV BIT04.BITS
.EQulv BIT03.8IT

.EQUIV BIT0Z2.BIT

.EQUIV BIT01,BIT1
.EQulv BIT00,8ITO

-*BASIC *CPU"" TRAP vtcroa Aoouesses
ERRVEC= & :TIME OUT AND OTHER ERRORS
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(
BASIC DEFINITIONS SEQ 0005
RESVEC= 10 ; ;RESERVED AND ILLEGAL INSTRUCTIONS
TBITVEC=14 ST BIT
TRTVEC= 14 ::TRACE TRAP
BPTVEC= 14 : :BREAKPOINT TRAP (BPT)
IOTVEC= s INPUT/OUTPUT TRAP (IOT) «eSCOPEwe
PWRVEC= 24 : :POWER FAIL
EMTVEC= :JEMULATOR TRAP (EMT) «ERROR+e
TRAPVEC= ::"TRAP"® TRAP
TKVEC= 60 2:TTY KEYBOARD VECTOR
TPVEC= 64 :TTY PRINTER VECTOR
;eesss  THE FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
LKVEC= 100 ::LINE CLOCK VECTOR
BRKVEC= 140 : :BREAK VECTOR
PIRQVEC=240 : ;PROGRAM INTERRUPT REQUEST VECTOR
ABASE= 174420 :VER:0
AVECT1= 240 *VER:0
APRIOR= 200

$SWR= 167400
$TN= 1

.SBTTL ACT11 HOOKS

srattntRRANRERRRERTERCCCERRERRECRRACRRCOARRRARERRRCRREICOCERRRCACRCSOCRCOCRESY

+HOOKS ngoumeo BY ACT11
-

SYPC=. :SAVE PC

igvscgw ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
WORD O ::2)SET LOC.52 TO ZERO

~=$SVPC ::"RESTORE PC

.=1000
.SBTTL APT PARAMETER BLOCK

srtttttRRRRRERRRERAREROERRERRCRCRRCRRRRARARRAEARRCRRARRRCCEOACORCCOCCRCORNY

2SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
:;tt'.lQtt'tttt"."."QQi"t".t'tt."t"tltt.tt'tttttttﬁtt'tt.t

S$X=.  ;:SAVE CURRENT LOCATION

.=24 22SET POWER FAIL TO POINT TO START OF PROGRAM

200 22FOR APT START P

. =4 ssPOINT TO APT INDIRECT ADDRESS PNTR.

SAPTHDR ;:POINT TO APT HEADER BLOCK

«=.8X  ;;RESET LOCATION COUNTER
;‘Qtt't'.t.'tt.""t"""t'.'Q't.t't'tt!t.Q.tt.".'.t'.!'.t'.t.t
:%ﬁ}g':‘c’g ';IA'ERC”‘T“ BLOCK AS DEFINED IN THE APT-PCP11 DIAGNOSTIC

$SAPTHD:

$SHIBTS: .WORD O ;:TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

SMBADR: .WORD SMAIL  ::ADDRESS OF APT MAILBOX (BITS 0=15)

$TSTM: .WORD ; ::RUN TIM OF LONGEST TEST

$SPASTM: .WORD 58 ::RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)

SUNITM: .WORD 1 -;Aoosnom RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
.WORD SETEND-SMAIL/2 ;;LENGTH MAILBOX~ETABLE (WORDS)
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CNKWAA . F11 1 -DEC-82 15:38 COMMON TAGS

5786 .SBTTL COMMON TAGS

SEQ 0006
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sottttRtrtttRtRRRARCCRTCRRECRCCCRORRORARCLERARRQRCAORECRCANCOCOOCCOROCOCCCOCOCNTST

;*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
;*USED IN THE PROGRAM.

SCMTAG:
STSTNM:

SERFLG:
SICNT:

$AUTOB:

$NULL :
$SFILLS:

SFILLC:
$TPFLG:

.=1100

-WORD
.BYTE
.BYTE
-WORD
-WORD

STIMES: 0
SESCAPE:0

$BELL:
$QUES:
$CRLF:
SLF:

.ASCI1
ASCIZ

CO000O0O0CO0O00O0~-0O00000000

o
hd
s
w
B

2

O=tte O

ssSTART OF COMMON TAGS

ssCONTAINS THE TEST NUMBER

s sCONTAINS ERROR FLAG

2sCONTAINS SUBTEST ITERATION COUNT
ssCONTAINS SCOPE LOOP ADDRESS
ssCONTAINS SCOPE RETURN FOR ERRORS
ssCONTAINS TOTAL ERRORS DETECTED
ssCONTAINS ITEM CONTROL BYTE
ssCONTAINS MAX. ERRORS PER TEST
2sCONTAINS PC OF LAST ERROR INSTRUCTION
2;CONTAINS ADDRESS OF °*GOOD* DATA
: :CONTAINS ADDRESS OF °"BAD® DATA

s sCONTAINS *GOOD* DATA

::CMTAINS 'BAD' DATA

MM ESERVED"NOT 70 BE USED

ssAUTOMATIC MODE INDICATOR
s s INTERRUPT MODE INDICATOR

2:ADDRESS OF SWITCH REGISTER
2:ADDRESS OF DISPLAY REGISTER

2:TTY KBD STATUS

3TTY KBD BUFFER

2:TTY PRINTER STATUS REG. ADDRESS
33TTY PRINTER BUFFER REG. ADDRESS
22CONTAINS NULL CHARACTER FOR FILLS

: CONTAINS # OF FILLER CHARACTERS REOUIRED

::lNSERl FILL CHARS. AFTER A *LINE FEED'’
'TEMIMI. AVAILABLE FLAG (DlT(Ob’O‘YES)
NUMBER OF ITERATIONS
ESCAPE ON_ERROR ADDRESS

<207><377><377> ZEcooe FOR BELL

QUESTION MARK
<IS> s, CARRIAGE RETURN
<12> ::LI'E FEED

sotttRRATARRRARTRRARRARRERRERRERLORRCORRRARRARRCCRRARCAROCRCACCOTQCOROCOERTSE

.SBTTL APT MAILBOX~-ETABLE

sttt ROeRRERERRARRRRERRRRERRRCRRRRRRARRAQRARCRAQRRCRRERRCRRCREROICQRRERORRESY

Evsn

AMSGTY
AFATAL
ATESTN
APASS
ADEVCT
AUNIT

2:APT MAILBOX
s:MESSAGE TYPE CODE
::FATAL ERROR NUMBER
::TEST NUMBER

2:PASS COUNT
s:DEVICE COUNT
2:170 UNIT NUMBER

e -
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APT MAILBOX-ETABLE

SMSGAD: .WORD  AMSGAD
Slsgkf WORD  AMSGLG

SENV: .BYTE  AENV
SENVM: .BYTE AENVM
- :ENVIRONMENT MODE BITS
$SWREG: .WORD  ASWREG
SUSWR: .WORD  AUSWR
$CPUOP: .WORD  ACPUOP

$MAMST: .BYTE  AMAMS1
SMTYP1: .BYTE AMTYPI

SVECTY: .WORD AVECT
SVECT2: .WORD AVECT?2
$BASE: .WORD ABASE
;:BASE ADDRESS 0

$SDEVM: .MD ADEVM
$CDW1: .WORD ACDW1
SETEND

LMEXIT

H 1
16-DEC-82 15:42 PAGE 57-5

s sMESSAGE ADDRESS

s sMESSAGE LENGTH

::APT ENVIRONMENT TABLE
s sENVIRONMENT BYTE

-Oﬁc )
v
m
o
w
«
Eew
-
s3
w

S 15-11=CPU_TYPE

11704=01, 11/05302 11/20=03,11/40=04 ,11/45=05
11/70=06.PDa=07,0=10

10=REAL TIME CLOCK

8=MEMORY MANAGEMENT
gl'l ADDRESS ,M.S. BYTE
TY

T
YPE BYT

W0 P g g

s MDD
!'az = =
—

C CORE=001
H,
E
:H

ME

gﬂ SS
sHIGH ADDRESS M.S. BYTE
:MEM. TYPE ,BLK#2
sMEM.LAST ADDRESS ,BLK#2
:HIGH ADDRESS,M.S.BYTE
:MEM. TYPE ,BLK#3
:MEM.LAST 'ADDRESS ,BLK#3

;HIGH_ADDRESS .M.S.BYTE
sMEM. TYPE ,BLK#%
;MEM.LAST ADDRESS,BLK#4

QUIPMENT UNDER TEST
25 VICE MAP

Oo.o - .o!o.o.o.o.o.u.o.o.o!l

SEQ 0007

9=FLOATING POINT PROCESSOR

1
== (HIGH BYTE)

3 BYTES,THIS WORD AND LOW OF ‘‘TYPE'* ABOVE

; INTERRUPT VECTOR#1,BUS PRIORITY®
: INTERRUPT VECTOR#2BUS PRIORITY#2
E

ONTROLLER DESCRIPTION WORD#1

——— . — —— - —
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017232
017555
017764
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017264
017555
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020062

017312

017340
017625
020010
020062

017361
017555
017764
020062

MAINDEC=11=CNKWA=A
-85 15:38
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ERROR POINTER TABLE

.SBTTL ERROR POINTER TABLE

s*THIS TABLE CONTAINS THE INF ON
s*THE INFORMATION IS OBTAINED BY US%'Aﬁ

;*LOCATION SIiEMB. TH

*NOTE1

T eNOTE2:

JITEM

;ITEM

JITEM

JITEM

EM
DH
DT
DF

EM1
DH1
DT
DFO

DFO

EMS5

T
DFO

IS
IF SITE
I

[
HE INDEX NUMBER FOUND IN
WHICH ITEM IN THE TABLE IS PERTINENT.
PERTINENT DATA IS (SERRPC).

INTS TO THE ERROR MESSAGE
INTS TO THE DATA HEADER
INTS TO THE DATA

INTS TO THE DATA FORMAT

sCLOCK SR FUNCTION ERROR
sERRPC  ASR WAS S/8
sSERRPC,ASR,$SBDDAT ,SGDDAT

sALL NUMBERS ARE iN OCTAL FORM

sCLOCK SR DATA ERROR
sERRPC  ASR WAS s/8
sSERRPC,ASR,$BDDAT,SGDDAT

sALL NUMBERS ARE IN OCTAL FORM

:CLOCK BR DATA ERROR

:ERRPC  ABR WAS

s SERRPC ,ABR, SBDDAT ,SGDDAT

sALL NUMBERS ARE IN OCTAL FORM

s INTERRUPT ERROR.
:ERRPC TO ROM ADDR.
sSERRPC, TRTO,TRFRO

sALL NUMBERS ARE IN OCTAL FORM

;:CLOCK  COUNT REG ERROR
:ERRPC ASR WAS S/B
:SERRPC, ACR, SBDDAT, SGDDAT
:ALL NUMBERS ARE IN OCTAL FORM

SEQ 0008

I
T
HE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:

—
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CNKWAA.F11  16-DEC-82 15:38 ERROR POINTER TABLE SEQ 0009
5827
ggg :ITEM 6
5830 001326 017423 EM12 :CLOCK  COUNT FUNCTION ERROR
5831 001330 017661 DH12 ‘ERRPC  ASR
5832 001332 020020 DT12 *ERRPC, ASR
- 5833 001334 020062 DFO ALL NUMBERS ARE IN OCTAL FORM
5834
gggg :ITEM 7
| 5837 001336 017452 EM16 :CLOCK  INTERRUPT ERROR
5838 001340 017661 DH12 PERRPC  ASR
5839 001342 020020 DT12 *$ERRPC, ASR
S840 001344 020062 DFO TALL NUMBERS ARE IN OCTAL FORM
5841
o382 SITEM 10
| 5844 001346 017503 EM20 ;CLOCK  REPEATABILITY ERROR
5845 001350 017676 DH20 ERROR ASR 2ND CNT 1ST CNT 3RD CNT
5846 001352 020026 DT20 *SERRPC, ASR, SBDDAT, SGDDAT, STMPO
5847 001354 020062 DFO ALL NUMBERS ARE IN OCTAL FORM
5848
3849 SITEM M
5851 001356 017404 E®11 ; CLOCK T ERROR
5852 001360 017555 DH1 SERaPe  AoR' T EASR /8
5853 001362 020042 D122 :SERRPC, ASR, $SDDA7, $TMPO
5854 001364 020062 DFO TALL NUMBERS ARE IN OCTAL FORM
5855
§§§‘7’ :ITEM 12
5858 001366 017532 EM26 ;CLOCK ADDRESSING ERROR
5859 001370 017737 DH26 *ERRPC  CLOCK ADDR.
5860 001372 020054 DT26 SERRPC,$TMPO
5861 001374 020062 DFO ALL NUMBERS ARE IN OCTAL FORM
5863 001376 174420 ASR:  .WORD  ABASE
001400 174422 :  .WORD ABASE+2
5865 001402 000240 VECT1: .WORD AVECTI
001404 000242 VECTP: .WORD AVECT142
5867 001406 000244 VECT2: .WORD AVECT1+4 :VECTOR ADDR. OF ST2 INTRS.
5868 001410 000246 VECT2P: .WORD AVECT1+6
5869 001412 0002 PRIOR: .WORD APRIOR
5870 001414 167774 DR: ‘WORD 167774
5871 001416 167772 DR2:  .WORD 167772
5872 001420 000000 $TMPO: .WORD O :TEMP STORAGE.
5873 001422 000000 $TMP1: .WORD O *TMP STORAGE.
5874 001424 000000 $TMP3: _WORD 0
5875 001426 000000 ROTATE: _WORD O ;POINT TO DEVICE UNDER TEST.
5876 001430 000000 UTEST: .WORD 0 KEEPS TRACK OF GOOD UNITS.
5877 001432 000000 ERCNT: .WORD O 1COUNTS ERRORS.
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KWV11A DISAGNOSTIC MAINDE
CNKWAA.P11  16-DEC-82 15:38 ERROR POINTER TABLE SEQ 0010
5878 001434 000000 MDEVCT: .WORD 0 ;COUNTS DEVICES TESTED.
5879 001436 000CGO TSTCNT: .WORD O -m DEVICES ro BE TESTED.
. 5880 001440 000000 EXS: .WORD O NORMAL: =1 SPECIAL TESTOR START, BY L+S @ 2
. 5881 001442 000000 LCNT: .WORD O -mm UNITS TESTED.
: 58832
. 5885 001444 012737 002144 001420 QSTART: MOV #RSTART,$TMPO :LOAD SETUP RETURN ADDRESS
) g% 001452 000137 001526 JMP INIT :INIT THE PROGRAM VECTOR SPACE
. S888 001456 005237 001440 TSTSTR: INC EXS :SET FOR TESTOR.
5889 001462 012737 000020 001436 MOV #16.  1STONT :ALLOW 16 UNITS
5890 001470 000413 BR 1$
. 5891 001472 WSTART=.
. 5892 001472 012737 000020 001436 MOV #16.,TSTCNT :TEST UP TO 16 UNITS.
. 5893 001500 005037 001440 CLR EXS
. 5894 001504 000405 BR 18
' 5895 001506 START=.
. 5896 001506 012737 000004 001436 MOV #4,TSTCNT :TEST UP TO FOUR UNITS.
5897 001514 005037 001440 CLR EXS
5898 001520 012737 001774 001420 1%: POV #ZSTART,STMPO :LOAD SETUP RETURN
| 5899 001526 INIT:
(1 .SBTTL .NITIALIZE THE COMMON TAGS
%)) ::CLEAR THE COMMON TAGS (SCMTAG) AREA
(1) 001526 012706 001100 "0V #SCMTAG,R6 ;:FIRST LOCATION TO BE CLEARED
(1) 001532 005026 CLR (R6)+ ::CLEAR MEMORY LOCATION
(1) 001534 022706 001140 CMP #SWUR,R6 ; ;DONE?
(1) 001540 001374 aue .6 ::LOOP BACK IF NO
(1) 001542 012706 001100 #STACK, SP ::SETUP THE STACK POINTER
(1 ..mmuzs A FEW VECTORS
| (1) 001546 012737 015136 000020 MOV #$SCOPE ,a#IOTVEC ;10T VECTOR FOR SCOPE ROUTINE
(1) 001554 012737 000300 000022 MOV #PR6,#IOTVEC+2 ::LEVEL 6
(1) 001562 012737 014574 000030 MOV #SERROR,3PEMTVEC : ;EMT VECTOR FOR ERROR ROUTINE
m 001570 012737 000300 000032 i MOV #PR6,IPEMTVEC+2 ;:LEVEL 6
(1) 001576 012737 017152 000034 MOV #STRAP,3#TRAPVEC ;:TRAP VECTOR FOR TRAP CALLS
(1) 001604 012737 000300 000036 MOV #PR6. 4 TRAPVEC $2: LEVEL 6
(1) 001612 012737 016724 000024 MOV #SPURDN, 3#PURVEC ;;POWER FAILURE VECTOR
(1) 001620 012737 000300 000026 MOV #PR6,AFPURVEC+2 ;:LEVEL 6
(1 omegg 005037 001160 CLR STIMES ::INITIALIZE NUMBER OF ITERATIONS
(1) 001632 005037 001162 CLR SESCAPE ::cm\a THE ESCAPE ON ERROR ADDRESS
(1) 001636 112737 000001 001115 MOVE  #1,SERMAX :-AL ONE ERROR PER TEST
(1) 001644 012737 001644 001106 MOV 0..s|.ma ::INITIALIZE THE LOOP ADDRESS FOR SCOPE
(1) 001652 012737 001652 001110 MOV .SLPERR SETUP THE ERROR LOOP ADDRESS
(2) ::SIZE FOR A m\noum SWITCH asci&ren IF NOT FOUND OR IT IS
(2) ::EQUAL TO A *=1'", SETUP FOR A SOFTWARE SWITCH REGISTER.
(2) 001660 mmg 000004 MOV @#ERRVEC,-(SP) ;;SAVE ERROR VECTOR
(2) 001664 012737 001720 000004 MOV #64S, SFERRVEC ::SET UP_ERROR VECTOR
(2) 001672 012737 1775720 001140 MOV #DSWR, SWR +:SETUP FOR A HARDWARE SWICH REGISTER
. (2) 001700 012737 177570 001142 MOV #DDISP,DISPLAY ::AND A HARDWARE DISPLAY REGISTER
| (2) 001706 022777 177777 177224 CMP #-1,3SWR ::TRY TO REFERENCE HARDWARE SWR
(2) 001714 001012 BNE 668" : ;BRANCH IF NO TIMEOUT TRAP OCCURRED
(2) :AND THE HARDWARE SWR IS NOT = =1
(2) 001716 000403 BR 65% S:BRANCH IF NO TIMEOUT
(2) 001720 012716 001726 648: MOV #658, (SP) ::SET UP FOR TRAP RETURN
(2) 001724 oooo&; RTI
| (2) 001726 012737 000176 001140 658: MOV #SWREG, SWR ::POINT TO SOFTWARE SWR
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INITIALIZE THE COMMON TAG SEQ 0011
MOV #DISPREG,DISPLAY
668: MOV (SP)+,a#ERRVEC ;;RESTORE ERROR VECTOR
CLR $PASS ;:CLEAR PASS COUNT
BITB  #APTSIZE,SENVM ::TEST USER SIZE UNDER APT
BEQ 67% ::YES,USE NON-APT SWITCH
e~ MOV #SSWREG, SWR *:NO,USE APT SWITCH REGISTER
T I asTMPO ;EXIT PROGRAM VECTOR SETUP SPACE
ISTART:
MoV #300,=(SP) ;SET CPU PRIORITY ON RETERN.
MOV #648.-(SP) :SHOW RETURN ADDRESS.
- RTI :CAUSE A RETURN(PUTS STATUS IN STATUS REG.).
CLR SDEVCT :ZERO DEVICE COUNT.
MOV #10TRD,#ERRVEC :FIX TRAP CATCHER.
MOV SVECTI.VECT1  :NOW FIX VECTOR ADDR.
MOV $BASE , ASR *FIX ADDRESS OF CSR.
.SBTTL TYPE PROGRAM NAME
::TYPE THE NAME OF THE PROGRAM IF FIRST PASS
INC -1 ::FIRST TIME?
BNE 65: ..eanucu IF NO
TYPE TYPE ASCIZ STRING
.SBTTL ser vnlué ron SOF TWARE suxrcu aesxsre
a2 ;ARE WE RUNNING UNDER XXDP/ACT?
ens 678 .:BRANCN IF YES
CMPB  SENV,#1 ::ARE WE RUNNING UNDER APT?
BEO 67% ::BRANCH IF YES
CMP SWR, #SWREG $:SOFTWARE SWITCH REG SELECTED?
BNE 68% *:BRANCH IF NO
g;sua e $:GET SOFT-SWR SETTINGS
2;3 MOVE  #1,SAUTOB ;:SET AUTO-MODE INDICATOR
" BR 658 ::GET OVER THE ASCIZ
632“ «ASCIZ <CRLF>#CNKWAA KWV11 DIAGNOSTIC#<CRLF>
RSTART :
ST EXS ;TESTOR MODE ENABLED??
BEQ 18 *NO DON'T TYPE NEXT MESSAGE.
TYPE 6ss ..TYPE ASCIZ STRING
BR *GET OVER THE ASCIZ
3235” LASCIZ <1S><12>IIESIOR MODE ENABLED--SEE DOCUMENTATION FOR INSTRUCTIONS.#
18:
TYPE 678 ::TYPE ASCIZ STRING
BR 66$ ::GET OVER THE ASCIZ
..g7s: LASCIZ  <15><12>#TEST RUNNING...#
" CLR MDEVCT ;TESTING FIRST UNIT.
(LR ERCNT *NO ERRORS.
(LR $PASS *NO PASSES.
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CNKWAA.P11  16-DEC-82 15:38 GET VALUE FOR SOFTWARE SWITCH REGISTER SEQ 0012
 §917 002320 012737 000001 001426 MOV #1,ROTATE :POINT TO FIRST UNIT. '
§918 002326 013737 001426 001430 MOV ROTATE ,UTEST
‘ gggg 002334 LCOP: :COME HERE FOR NEXT UNIT,OR END PASS.
5921 002334 042737 170000 001402 BIC #170000,VECT1  :CLEAR OUT PRIORITY BITS.
. §922 002342 013737 001402 001404 MOV VECT1,VECTP *NOW FIX VECTOR +2 ADDR.
. 5923 002350 062737 000002 001404 ADD #2,VECTP
5924 002356 013737 001402 001406 MOV VECTT,VECT2 :LETS FIX ST2 VECTOR ADDR.
5925 002364 062737 000004 001406 ADD #4,VECT2 :ITS & GREATER THEN THE 1ST.
| 5926 002372 013737 001406 001410 MOV VECT2,VECT2P  :VECTOR +2 ADDR.
; gggg 002400 062737 000002 001410 ADD #2,VECT2P
| 5929
. 5930 002406 013737 001376 001400 MOV ASR,ABR :FIX ADDR OF PRESET REG=
| gggg 002414 062737 000002 001400 ADD #2,ABR :CSR ¢ 2
i
f g}; ° 'tttttttttttttttttt.ttit"tt"tttt.tt'ittttttttttt'..!t'..Q'Qt.t
[ (&) 'tEST 1 «TEST THE ADDRESSABILITY OF CLOCK CSR
i (l.) t.‘t'tt.ttttttttttt"t'tt'tt'tt.ttttttttttttttttitittt'ilitﬁtﬁﬁ
. :g; 002422 000240 t&11:  NOP
% (2) 002424 012737 000050 001160 MOV #50,8TIMES ::D0 50 ITERATIONS
| (2) 002432 012737 002454 001106 MOV #1S.SLPADR ::SET_SCOPE LOOP ADDRESS
(1) 002440 112737 000001 001102 MOVB  #1,$TSTNM *SET TEST #1.
g; 002446 012737 002454 001110 MOV #1$,SLPERR
i
(1) 002454 013746 000004 18: MOV SFERRVEC,-(SP) :;SAVE CONTENTS OF ADDRS 6.
(1) 002460 012737 002474 000004 MOV #2%.38ERRVEC  :SET TIME-OUT TRAP VECTOR TO HANDLER IN CASE.
(1) ‘WE TIME-OUT WHEN ADDRESSING THE KW11.
(1) 002466 005777 176704 ST 3ASR *ADDRESS THE CLOCK'
(N *IF CLOCK DOES NOT RETURN
g}; :*BUS SSYN'' THEN WE'LL nns-our
(1) 002472 000406 BR 3s :THE CLOCK WAS THERE' EXIT SUB-TEST.
(1) 002474 2s:
(2) 002474 062706 000004 ADD #4,SP :/ADD #4 TO STACK POINTER.
:}; 002500 013737 001376 001420 MOV ASR,$TMPO :FOR ERROR TYPEOUT.
(2)

;:$88555855588538883888888>>> ERROR <<<$$55355555555555555555555553335388

(1) 00206 104012 ERROR 12 !!EPNY ERROR=CLOCK CSR FAILED TO RETURN
(1) :"BUS SSYN'® WHEN ACDRESSED.

(1 :NOTE: IF PROGRAM HAS INCORRECT

(1) ;ADDRESS THEN WE MIG NOT BE

(M sTALKING TO THE CLOCK. MAKE SURE

H; ;OF CLOCK ADDRESS.

(2)

| ;:985555585558555858888888>>> ERROR <<<$55$55555555555555555553555853%8
002510 012637 000004 38: MOV (SP)+ ,@¥ERRVEC
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013746
012737

005777
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012637

000004
002536 000004
176644

000004
001400 001420

000004

«TEST THE ADDRESSABILITY OF CLOCK (SR

°'.tt'it.tltit..t"t"l.itQt'tQ'.tt'.'Q'Q'."'Q'Q""""Q.QQ'Q"

SeTEST 2 «TEST THE ADDRESSABILITY OF CLOCK BUFFER REG.
22222332222 2222322%3223223223322223233333333333333333333333333323334
iarz SCOPE
1$: MOV A#ERRVEC,=(SP) :SAVE CONTENTS OF ADDRS 6.
MOV #2S,3#ERRVEC  :SET TIME-OUT TRAP VECTOR TO HANDLER IN CASE.
| :WE TIME-QOUT WHEN ADDRESSING THE KW11.
ST 21BR *ADDRESS THE CLOCK'
:1F CLOCK DOES NOT RETURN
1 S'BUS SSYN'' THEN WE'LL TIME-OUT
- BR 38 :THE CLOCK WAS THERE! EXIT SUB-TEST.
j ADD #4,SP ;/ADD #4 TO STACK POINTER.

MOV ABR, $TMPO

;FOR ERROR TYPEOUT.

5:955858558585888888888888>>> ERROR <<<$555555555555555555555555558558

ERROR 12

;REPORT ERROR=CLOCK BUFFER REG. FAILED TO RETURN
:*BUS SSYN'' WHEN ADDRESSED.

;NOTE: IF PROGRAM HAS INCORRECT

:ADDRESS THEN WE MIG NOT BE

sTALKING TO THE CLOCK. MAKE SURE

:OF CLOCK ADDRESS.

;5858855585 55588888888888>>> ERROR <<<$$5$55555555555555558555558558$

3%: MoV (SP)+,a#ERRVEC

SEQ 0013
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DISAGNOSTIC !ggNDEC-ll-CNKHA-A MACY11 30(1046) 16-DEC-82 15:42 PAGE 57-12
PN 16-DEC 15:38

T2 «TEST THE ADDRESSABILITY OF CLOCK BUFFER REG. SEQ 0014
tt'tt't::ii.t.t't"i*"ttt"'.ttttt'tQt..tt"tﬁtttttﬁttttttt.t.
-resr 3 «TEST THAT CLOCK A STATUS REGISTER BIT 14 CAN BE SET AND CLEARED
E~CLocx STATUS REGISTER BIT EXERCISE. ON FAILURE=SUSPECT INDIVIDUAL
;*F/FS OR GATES
. °ttttltiittt.tt.QitQtt'itt.Q"Qtt'tQtt'..Qtt'tt'.'tt.'....tt'ttt
002556 000004 tS13:  SCOPE
002560 012737 000100 001160 MOV #100,$TIMES ::00 100 ITERATIONS
oozssg 005077 176604 CLR SASR :/CLEAR rne STATUS REGISTER.
002572 052777 040000 176576 BIS #BIT14,3ASR :/SET BIT
012737 040000 001124 MOV #BIT14.$GDDAT  :/SET FOR ERROR TYPEOUT $/B.
002606 017737 176564 001126 MOV @ASR, SBODAT :/READ THE STATUS REGISTER.
002614 023737 001124 001126 CMP scooit $BODAT  :/DID BIT 14 AND ONLY BIT 14 SET?
002622 001402 BEQ s/71F SO-LETS TRY CLEARING IT.
;185853585355 3585888888888>>> ERROR <<<$$$3$335353353533535335538353$S
002626 104002 ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER
:/BIT 14 FAILED TO BIT SET.
;:985885885535838858888888>>> ERROR <<<$3$333535533533333535533338888S
002626 000412 BR 28 :/BR TO END SUBTEST.
002630 042777 040000 176540 18$: BIC #BIT14,3ASR :/TRY CLEARING BIT 14.
002636 005037 001124 CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY.
002642 017737 176530 001126 MOV @ASR, SBODAT :/NOW READ IT BACK.
002650 001401 BEQ 2 :/IF 2ERO = NO ERROR'

2:9535$55535855858558888888>>> ERROR <<<$331555335355355555355535583853883$S
002652 104002 ERROR 2 S/ERROR = CLOCK A STATUS REGISTER.
:/BIT 14 FAILED TO CLEAR.
2:9858585855855858588888888>>> ERROR <<<$$$5555335355555555555553838388
002654 2%:
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020000
001124
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*TEST THAT CLOCK A STATUS REGISTER BIT 14 CAN BE SET AND CLEARED

L

.i.t't".iit't.ii'i'ti'.i"i'tt'.'.i.'.t.tt'i'ii'it'..'t".tttt

"!ESI 4 *TEST THAT CLOCK A STATUS REGISTER BIT 13 CAN BE SET AND CLEARED

'CLOCK STATUS REGISTER BIT EXERCISE. ON FAILURE=SUSPECT INDIVIDUAL
:«F/FS OR GATES

"

shtteRRRRRERRR RN ERRRCORCOORRRRRROARRRARARARORARARARAARARASROCROORAOOOOORESE

t8T4:  SCOPE
MOV  #100,STIMES ;:D0 100 ITERATIONS
CLR  @ASR :/CLEAR THE STATUS REGISTER.

BIS #BIT13,3ASR :/SET BIT
MOV #BIT13,$GDDAT  :/SET FOR ERROR TYPEOUT S/B.

MOV SASR, SBDDAT :/READ THE STATUS REGISTER.

CMP scoonr $BODAT  :/DID BIT 13 AND ONLY BIT 13 SET?

BEQ 1 :/71F SO-LETS TRY CLEARING IT.
;85855883558 38538588588888>>> ERROR <<<$$$533535555$5333555583333358SS

ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER

:/BIT 13 FAILED TO BIT SET.
$:99555858585588585585888388>>> ERROR <<<$$$$5555355353585555335535385383388

BR 2% :/BR TO END SUBTEST.
1$: 8IC #BIT13,3ASR :/TRY CLEARING BIT 13.
CLR $GDDAT +/CLEAR S/B FOR TYPEOUT IF ANY.
MOV @ASR,$BDDAT +/NOW READ IT BACK.
BEQ 2% :/1F ZERO = NO ERROR!

2:9955585355585858888588888>>> ERROR <<<$$$$3$3535353535535358333533588388S
ERROR 2 /ERROR = CLOCK A STATUS REGISTER.
'/BlT 13 FAILED TO CLEAR.
2:955555555555555358583888>>> ERROR <<<$$5$555353555355555555555355385388S
2%:

——— e s— - — —————— ——— — - -—
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DISAGNOSTIC MAINDEC=11=CNKWA=A MACY11 30(1046) 16=-DEC-82 15 42 PAGE 57-14
P11 16-DEC-82 15:38 T4 *TEST THAT CLOCK A STATUS REGISTER BIT 13 CAN BE SET AND CLEARED SEQ 0016
' 'Qtt'tt.(f.Q.ttQtQQ'QQ.Q'QQ'QQ.Q..Q'.Q"QQ.'t...tt.t'ttt.t.ititt
-.tesr 5 «TEST THAT CLOCK A STATUS REGISTER BIT 11 CAN BE SET AND CLEARED
-cwcx STATUS REGISTER BIT EXERCISE. ON FAILURE=SUSPECT INDIVIDUAL
*«F/FS OR GATES
Q
4 2333233333333 33232 2022222222233 3233 3333333331233 233 333333233333 323233
002752 000004 TSTS:  SCOPE
002754 012737 000100 001160 MOV #100,$TIMES ::D0 100 ITERATIONS
002762 005077 176410 CLR 3ASR ;/CLEAR THE STATUS REGISTER.
002766 052777 004000 176402 BIS #BIT11,3ASR :/SET BIT 11.
002776 012737 004000 001124 MOV #BIT11.8GDDAT  :/SET FOR ERROR TYPEOUT S/B.
003002 017737 176370 001126 MOV @ASR,$BDDAT :/READ THE STATUS REGISTER.
003010 023737 001124 001126 CMP $GDDAT $BODAT  :/DID BIT 11 AND ONLY BIT 11 SET?
003016 4501402 BEQ 13 :/1F SO-LETS TRY CLEARING IT.
;:$88888588538838388888888>>> ERROR <<<$$3$53353333555585553583353838$
003020 104002 ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER

:/BIT 11 FAILED TO BIT SET.
::$35558558855855388888888>>> ERROR <<<$$8555535585585555555553853883S

003022 000412 BR 2% :/BR TO END SUBTEST.

003024 042777 004000 176344 18: BIC #8IT11,3ASR :/TRY CLEARING BIT 11,

003032 005037 001124 CLR $GDDAT :/CLEAR S/B FOR TYPECUT IF ANY.
003036 017737 176334 001126 MOV @ASR,$BDDAT :/NOW READ IT BACK.

003044 001401 BEQ 2% :/IF ZERO = NO ERROR'

5:$555555585585585885888888>>> ERROR <<<$$$555553555553555535585353538338
003046 104002 ERROR 2 s/ERROR = CLOCK A STATUS REGISTER.
:/BIT 11 FAILED TO CLEAR.
$:9555855585555558853588588>>> ERROR <<<$5$55555555553555538555533333338
003050 2s:
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1SAGNOSTIC _&wec-n-cum-a MACY11 30(1046) 6-DEC-82 15:42 PAGE 57-15

11 16-DE TS «TEST THAT CLOCK A STATUS REGISTER BIT 11 CAN BE SET AND CLEARED SEQ 0017
: tttttt;iztttttttttttt'ttttttttttltttttttttttttttttttttttttt'Qtt
.-rssr & «TEST THAT CLOCK A STATUS REGISTER BIT 6 CAN BE SET AND CLEARED
'-cLocx STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
-:r/rs OR GATES

M diiiiiiidiiiisiiiddiidiiiiiiidaiiiiiiiisiii it ittt iiiidiiddd]

003050 000004 t§76:  SCOPE

003052 012737 000100 001160 MOV #100,STIMES ::D0 100 ITERATIONS

003060 005077 176312 CLR BASR :/CLEAR THE STATUS REGISTER.

003064 052777 000100 176304 BIS #8176,3ASR :/SET BIT 6.

003072 012737 000100 001124 MOV #8176,8GDDAT  :/SET FOR ERROR TYPEOUT $/B.

003100 017737 176272 001126 MOV 3ASR,$BODAT :/READ THE STATUS REGISTER.

003106 023737 001124 001126 CMP scoon $BODAT  :/DID BIT 6 AND ONLY BIT 6 SET?

003114 001402 BEQ 1% :/IF SO-LETS TRY CLEARING IT.
::$858835855855858858858888>>> ERROR <<<$$$$3$$35355533555338385558335$$

003116 104002 ERROR 2 :/ERROR CLOCK AS STATUS REGISTER

:/BIT 6 FAILED TO BIT SET.

;:$55855555588558558888888>>> ERROR <<<$$3$535553553553355555583553383S

003120 000412 BR 2s :/BR TO END SUBTEST.

003122 042777 000100 176246 18: BIC #BIT6,3ASR :/TRY CLEARING BIT 6.

1 005037 001124 CLR 3GDDAf s/CLEAR S/B FOR TYPEOUT IF ANY.

003134 017737 176236 001126 MOV SASR,$SBDDAT :/NOW READ IT BACK.

003142 001401 BEQ 2 :71F ZERO = NO ERROR!
::355855558355358588888888>>> ERROR <<<$$$33$55335553555535353335533883S

003144 104002 ERROR 2 :/ERROR = CLOCK A STATUS REGISTER.

:/BIT 6 FAILED TO CLEAR.

::$58855835855538588588888>>> ERROR <<<$$3533553353353335533553533838S

003146 2s:
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XWV11A DI
(CNKWAA.P11  16~DEC-82 15:38 T6 «TEST THAT CLOCK A STATUS REGISTER BIT 6 CAN BE SET AND CLEARED SEQ 0018
!
: :;; 3 :'ttt't‘f:ttttt.ttt'tti."t'tt.tt'tttt."ttt.tttttti.'til.t't'it
| gg; SATEST 7 «TEST THAT CLOCK A STATUS REGISTER BIT 5 CAN BE SET AND CLEARED
(5 :«CLOCK STATUS REGISTER BIT EXERCISE. ON FAILURE=SUSPECT INDIVIDUAL
(5 :+F/FS OR GATES
i
(‘) - :ttttt.tt.tttttttttttt'titttt'.ttttt.t.ttttttttttttt.ttti.t.tttt
g; 003146 000004 TST7:  ScoPE
g; 003150 012737 000100 001160 MOV #100,STIMES ::D0 100 ITERATIONS
(1) 003156 005077 176214 CLR 3ASR :/CLEAR THE STATUS REGISTER.
(1) 003162 052777 000040 176206 BIS #BITS,aASR :/SET BIT S.
(1) 003170 012737 000040 001124 MOV #BITS.SGODAT  :/SET FOR ERROR TYPEOUT $/B.
(1) 003176 017737 176174 001126 MOV @ASR,$BDDAT :/READ THE STATUS REGISTER.
(1) 003206 023737 001124 001126 CMP $SGDDAT,SBODAT  :/DID BIT 5 AND ONLY BIT 5 SET?
3; 003212 001402 BEQ 1 :/1IF SO-LETS TRY CLEARING IT.
;:888855835835838558888888>>> ERROR <<<$$3$533$53555555555535553355383$
(17 003214 104002 ERROR 2 :/ERROR CLOCK AS STATUS REGISTER
g; :/BIT S FAILED TO BIT SET.
::$88885585535538538888388>>> ERROR <<<$$3$$3553353553533553533533888$
m 003216 000412 BR 28 :/BR TO END SUBTEST.
(1) 003220 042777 000040 176150 18: BIC #BITS,3ASR :/TRY CLEARING BIT S.
(1) 003226 005037 001124 CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY.
(1) 003232 017737 176140 001126 MOV @ASR, SBDDAT :/NOW READ IT BACK.
m 003240 001401 BEQ 2s :/IF ZERO = NO ERROR'
(2)

;:$555555585558553585888588>>> ERROR <<<$$35535555353555555535355383383388

003242 104002 ERROR 2 s/ERROR = CLOCK A STATUS REGISTER.
:/BIT 5 FAILED TO CLEAR.
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17 «TEST THAT ({LOCK A STATUS REGISTER BIT 5 CAN BE SET AND CLEARED

L
sERRRRRRRRARNAAANATRTCORCERTRCRTRREREARRAQCERRACAACAAACRQACCCOACROCCCOCSE

'TEST 10 *TEST THAT CLOCK A STATUS REGISTER BIT & CAN BE SET AND

'CLOCK STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
'FIFS OR GATES
°t

ottt RRRRARRCCLTRCCOCCOCRORCRRRRARAORRACEAANARAACAAQCCCSECOGOOOTS

TST10: SCOPE

MOV #100,STIMES ;::D0 100 ITERATIONS

CLR SASR ;/CLEAR rue STATUS REGISTER.

BIS 08116 ASR :/SET BIT

MOV #BIT4 SGDDAT  :/SET FOR eauoa TYPEOUT S/B.

MOV @ASR, $BDDAT :/READ THE STATUS REGISTER.

CMP SGDDAT $BODAT  :/DID BIT 4 AND ONLY BIT 4 SET?

BEQ :/1F SO-LETS TRY CLEARING IT.
;85855888355 8588588888888>>> ERROR <<<$$$3$3$3$5355355$5535358858538SS

ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER

s/BIT & FAILED TO BIT SET.
$:9555585585555585858588588>>> ERROR <<<$55555555555555555553553555358588
BR o :/BR TO END SUBTEST.

18: BIC #8174, 3ASR :/TRY CLEARING BIT &.
CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY.
MOV SASR,SBDDAT :/NOW READ IT BACX.
BEQ 2 :/1F 2ERO - NO EPROR'

2:9535555555555585588588883>>> ERROR <<<$$$53$535255555355355555555558338S
ERROR 2 3/ERROR = CLOCK A STATUS REGISTER.
:2/BIT & FAILED TO CLEAR.
333333333 333333333 33333 M Ul R332 3333333333333333333333333331
2%:

CLEARED

SEQ 0019
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MACY11 30(1046) 16-DEC-82 15:42 PAGE 57-18
T10 *TEST THAT CLOCK A STATUS REGISTER BIT & CAN BE SET AND CLEARED

/e

A LA 22 A 22 dR R i dddiddildiidiiidliidiadddiiddiiddiiddiddiddddddiddd)

SeTEST 11 *TEST THAT CLOCK A STATUS REGISTER BIT 3 CAN BE SET AND CLEARED

X
s+CLOCK STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
s*F/FS OR GATES

. %

cogtttttRetRRtORCERCOCERIRROCRERERORCOERORRARRRECROAROREOREOAREOCAROCAOCOCCTOOREY

TST11:  SCOPE
MOV #100,$TIMES ::D0 100 ITERATIONS
CLR BASR :/CLEAR THE STATUS REGISTER.
BIS #8173,3ASR :/SET BIT 3.

MOV #B8173,SGDDAT :/SET FOR_ERROR TYPEOUT S/B.

MOV @ASR, $BDDAT s/READ THE _STATUS REGISTER.

CMP S$GDDAT,$BDDAT  ;/DID BIT 3 AND ONLY BIT 3 SET?
1$ :/IF SO-LETS TRY CLEARING IT.

5:$5353553555553585588835888>>> ERROR <<<$$355£55555555555555555535585588S

ERROR 2 s/ERROR CLOCK AS STATUS REGISTER
:/BIT 3 FAILED TO BIT SET.

5:59555555555855585858858888>>> ERROR <<<$$53$5555555555555555555555553388

BR 2s :/BR TO END SUBTEST.
18: BIC #BIT3,3ASR :/TRY CLEARING BIT 3.
CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY.
MOV @ASR,SBDDAT :/NOW READ IT BACK.
BEQ 2 :/1F ZERO = NO ERROR'

PR 333333333333 33333333333 P 1-(0 - IRLLE$333333333333333338333333333349
ERROR 2 s/ERROR = CLOCK A STATUS REGISTER.
+/BIT 3 FAILED TO CLEAR.
P $33333333333333333333 33 P M - le i IRCC43$3333333333333333333333333333%9
2%:

SEQ 0020
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T «TEST THAT CLOCK A STATUS REGISTER BIT 3 CAN BE SET AND CLEARED SEQ 0021
4
".'t""‘.'.t't'.t".Q'Q'.Q'Q'Q..Q.'lQ'..'Q'Q.'.Ql.'..t".'.t.'.
--tESt 12 «TEST THAT CLOCK A STATUS REGISTER BIT 2 CAN BE SET AND CLEARED
'CLOC( STATUS REGISTER BIT EXERCISE. ON FAILURE=-SUSPECT INDIVIDUAL
tFIFS OR GATES
"'.QQ.Q.Q""QQ'Q."Q'.Q'.".'Q!..'..QQQ..QQ.Q'...Q'Q..QQQ..Q.Q'
T$T12: SCOPE
MOV #100,STIMES ::00 100 ITERATIONS
CLR 3ASR :/CLEAR THE STATUS REGISTER.
BIS #B1T2,3ASR :/SET BIT 2.
MOV #BIT2.SGDDAT  :/SET FOR ERROR TYPEOUT S/B.
MOV SASR, $BDDAT :/READ THE STATUS REGISTER.
CMP ssoout $SBODAT  :/DID BIT 2 AND ONLY BIT 2 SET?
BEQ 18 :71F SO-LETS TRY CLEARING IT.

;:593585558558585883888888>>> ERROR <<<$$$55355555553555555555535383838S

ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER
;/BIT 2 FAILED TO BIT SET.

5:9558555555585558558558888>>> ERROR <<<$5$55555555555555553555385583538S

BR 28 :/BR TO END SUBTEST.
18: 8IC #8112, 3ASR :/TRY CLEARING BIT 2.
CLR $GODAT :/CLEAR S/B FOR TYPEOUT IF ANY.
MOV SASR,SBDDAT :/NOW READ IT BACK.
BEO 28 :/1F ZERO = NO ERROR'

P 333333333333 333333333 33 P11 IRLCE3333333333833333333333333333333
ERROR 2 2/ERROR = CLOCK A STATUS REGISTER.
'IBlT 2 FAILED TO CLEAR.
33 333333333333333333 3330 M ii L4333 33 333 3333333333333333333833
2%:

—— e . e
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MACY11 30(1046) 16-DEC-82 15:42 PAGE 57-20
T2 *TEST THAT CLOCK A STATUS REGISTER BIT 2 CAN BE SET AND CLEARED

/e

segtttttRARERRRARRRCECRCERRECRACCEROEREAARRARGCAARARARAERAAAACAERLANCCOCCEOESY

SeTEST 13 «TEST THAT CLOCK A STATUS REGISTER BIT 1 CAN BE SET AND CLEARED
. %

:*CLOCK STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
s*F/FS OR GATES
I3

ettt tt Rttt bRt bR R ORORRRAORARARACNEOAGCCROAARASCOCROOCCORCCRROES

TST13:  SCOPE
MoV #100,STIMES ;:D0 100 ITERATIONS
CLR 3ASR ;/CLEAR THE STATUS REGISTER.
BIS #BIT1,3ASR :/SET BIT 1.

MOV #8171,SGDDAT :/SET FOR ERROR TYPEOUT S/B.

MOV @ASR, SBDDAT s/READ THE STATUS REGISTER.

CMP $GDDAT,$BODAT  ;/DID BIT 1 AND ONLY BIT 1 SET?
1$ :/1F SO-LETS TRY CLEARING IT.

5:5985585555555555555883888>>> ERROR <<<$$5355535555555555555533555555835$S

ERROR 2 s/ERROR CLOCK AS STATUS REGISTER
s/BIT 1 FAILED TO BIT SET.

5:955555555555558585888888>>> ERROR <<<$$55555555555555555555555555858S

BR 2% :/BR TO END SUBTEST.
18: 8IC #BIT1,3ASR :/TRY CLEARING BIT 1.
CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY.
MOV @ASR,$BDDAT :/NOW _READ IT BACK.
8EQ 2$ :/1F ZERO = NO ERROR!

P 3333333333333 3333333333 DD ML LTn AL LE$33333333333333333333333333343%9
ERROR 2 s/ERROR = CLOCK A STATUS REGISTER.
s/BIT 1 FAILED TO CLEAR.
P 3333333333333 3 333333333 DML Ii IR LE$$333333333333333333333333333%9
2%:

—— e — .= — . —— . - - ——

SEQ 0022
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DISAGNOSTIC MAINDEC=11-CNKWA=A MACY11 30(1046) 16-DEC-82 15 42 PAGE 57-21
P11 16-DEC-82 1%:3& T «TEST THAT CLOCK A STATUS REGISTER BIT 1 CAN BE SET AND CLEARED SEQ 0023
ttt't.;iztt'.*'t'tt."ttt".t'tttttttt.t.t'i.t't.t.ttt.t.iit.tt
-tesr 1% «TEST THAT CLOCK A STATUS REGISTER BIT O CAN BE SET AND CLEARED
"CLOCK STATUS REGISTER BIT EXERCISE. ON FAILURE=-SUSPECT INDIVIDUAL
-r/rs OR GATES
X 2222222803030 2230020203333 3333333333333 333333333333333333333323]
003634 000004 $8714: SCOPE
003636 012737 000100 001160 MOV #100,STIMES ::D0 100 ITERATIONS
003644 005077 175526 CLR BASR :/CLEAR THE STATUS REGISTER.
003650 052777 000001 175520 BIS #81T0,3ASR :/SET BIT 0.
003656 012737 000001 001124 MOV #8ITO.SGDDAT  :/SET FOR ERROR TYPEOUT S/B.
003664 017737 175506 001126 MOV @ASR, $BDDAT :/READ THE STATUS REGISTER.
003672 023737 0011264 001126 CMP ssoonr $BDDAT  :/DID BIT O AND ONLY BIT O SET?
003700 001402 BEQ 1$ :/1F SO-LETS TRY CLEARING IT.
::$58885558558858588888888>>> ERROR <<<$$$5$8535555555555555555583388$
003702 104002 ERROR 2 :/ERROR CLOCK AS STATUS REGISTER

:/BIT 0 FAILED TO BIT SET.
2:955555385555583588838888>>> ERROR <<<$$$5$55535555555555553555555358S

003704 000412 BR 2% :/BR TO END SUBTEST.

003706 042777 000001 175462 18: BIC #BIT0,3ASR :/TRY CLEARING BIT 0.

003714 005037 001124 CLR $GDDAT :/CLEAR S/B FOR TYPEQUT IF ANY.
003720 017737 175452 001126 MOV @ASR,$BDDAT :/NOW READ IT BACK.

003726 001401 BEQ 2% :/1F ZERO = NO ERROR!

::555558555555555888888888>>> ERROR <<<$$$$$555555535555555553555533588S
003730 104002 ERROR 2 s/ERROR = CLOCK A STATUS REGISTER.
:/BIT O FAILED TO CLEAR.

2:88355558555855888585888888>>> ERROR <<<$$$$$$555535535535555555555535535588$S
003732 2%:
000010 .RADIX 8
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'KWV11A DISAGNOSTIC MAINDEC-11-CNKWA-A MACY11 30(1046) 16-DEC-B2 15:42 PAGE 58

CNKUAR. P11 16-DEC-82 15:38 T14 «TEST THAT CLOCK A STATUS REGISTER BIT O CAN BE SET AND CLEARED SEQ 0024
| 6059
. 6060
(S) t..‘..Q'...'.'..."."'""'i"."..'.....Q....'..'.....'..Q.'.'.
(&) ~t£$t 15 «TEST THAT PATERN 125252 WILL SET AND CLEAR IN BUFFER REG.
| (‘) t't"..'..'l.."I.'.Qt""'.."'i.".....t.f....t*i.t'.t...".i.
| 8} 003732 000004 8715:  SCOPE
LM
C (1) 00373& 005077 175440 CLR 3ABR ;/CLEAR THE BUFFER REG.
(1) 003740 012737 125252 001124 MOV #125252,$GDDAT :/RECORD PATTERN: 125252 .
(1) 003746 013777 001124 175424 MOV $GDDAT, DABR :/SET PATTERN IN BUFFER RcG.
m 003756 017737 175420 001126 MOV @ABR, SBDDAT :/READ THE BUFFER REG.
(1) 003762 023737 001124 001126 CMP $GDDAT,$BDDAT  :/DID THE PATTERN SET OK?
() (03770 001402 BEQ 1 :/YES-TRY CLEARING IT.
)

5:855555585555558588888888>>> ERROR <<<$$55555585553555555555555555358$

(1) 003772 104003 ERROR 3 ;/ERROR PATTERN 125252 FAILED TO
:5; :/SET PROPERLY IN BUFFER REG.
5:99538855855585585385888888>>> ERROR <<<$$5$$555555555555555555555853838S
:}; 003774 000412 BR 2% :/GOTO SCOPE LOOP.
(1) 003776 042777 125252 175374 1$: BIC 1125252 @ABR s/TRY CLEARING PATTERN.
(1) 004004 005037 001124 CLR $GDD IEXPECT ZERO BA
(1) 004010 017737 175364 001126 MOV aABR GBDDAT /READ BUFFER REG..UAS IT ZERO?
g}; 004016 001401 BEQ 2% °IYES-NEXT TEST.
(2)
5:955555585585588588888888>>> ERROR <<<$$5$555$355555535555585555355358$
(1) 004020 104003 ERROR 3 ;/BUFFER REG. COULD NOT BE LOADED
25; :/T0 A ZERO.

;:9953585555558558858888888>>> ERROR <<<$$$5$$$3555555535555555355553585388$
004022 2%:

~
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TIC MAINDEC=11-CNKWA=-A
6-DEC-82 15:38

000004
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MACY11 30(1046) 1€-DEC-82 15 &2 PAGE 59
T15 *TEST THAT PATERN 125252 WILL SET AND CLEAR IN BUFFER REG.

spttttttARt ARttt ettt bR e R A ARARAARARAOARROARARSARRNAASCAROCRSCOOOSOOORSY

E2r£sr 16 «TEST THAT PATERN 052525 WILL SET AND CLEAR IN BUFFER REG.
.tttttttttttltt.ti't"'itt't.t"."".ttt.t'.tt'tttttt.tt.ittttt
T§T16: SCOPE
CLR 3ABR ;/CLEAR THE SUFFER R

MOV #052525,8GDDAT ;/RELORD PATTERN: 052525

MOV $GODAT ,aABR :/S:T PATTERN IN BUFFER REG.

MOV @ABR,$BDDAT :/READ THE BUFFER REG.

CMP $SGDDAT,$BDDAT  :/DID THE PATTERN SET OK?

BEQ 1$ s/YES=TRY CLEARING IT.
;:$38555585558855888888888>>> ERROR <<<$$$555555555855555555555585558$

ERROR 3 :/ERROR PATTERN 052525 FAILED TO
:/SET PROPERLY IN BUFFER REG.

;:$585855555558855588888888>>> ERROR <<<$5$5555855555555555558555555388

BR 2$ :/GOTO SCOPE LOOP.
18: BIC #052525,3ABR ;/TRY CLEARING PATTERN.
CLR $GDDAT s/EXPECT ZERO BACK.
MOV @ABR,$BDDAT :/READ BUFFER REG.,WAS IT ZERO?
BEQ 2% :/YES=NEXT TEST.

5:958585555585558838888888>>> ERROR <<<$$$5555555555555555555555555538$S

ERROR 3 ;/BUFFER REG. COULD NOT BE LOADED
:/T0 A ZERO.

;:985555353555555553888588>>> ERROR <<<$$385$5555555555383558555583855

2s: ; f“.
JSBTTL * E
.SBTTL « PHASE 2 ADVANCED BASIC LOGIC TESTS L%
.SBT'L * 2 ?- '_

SEQ 0025
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MACY11 30(1046)
*

N2
16-DEC-82 15:42 PAGE 60

::t.'t.t"tttQi.'t'..Q'tit"'i'.'.tﬁ.ttt't.i..t.."t""."'.""

«TEST THE LOW BYTE OPERATION OF CLOCK'S STATUS REGISTER

s*TEST 17

'.

;*WE CAN SUCCESSFULLY WRITE EVERY BIT IN STATUS REG A
s*NOW LETS CHECK THE BYTE OPERATION OF THIS REGISTER.

b ]

tRARRRRRRRARRRRRRCRCRERRRRCRSRRRORARRARARARAAAAARASIARRASCCARECRAAOOISOCO RS AaS

"
TST17: SCOPE

MOV

CLR
MovBe

MoV

MOV
CLRB

1ST8
BEQ

#50,$TIMES

dASR
#127677 ,3ASR

@ASR,a$BDDAT

$BDDAT,SGDDAT
$GDDAT+1

$BDDAT+1
18

::D0 50 ITERATIONS

sMAKE SURE THE STATUS REGISTER IS CLEAR.
:TRY WRITING ALL BITS IN THE
;STATUS REGISTER. LOGIC SHOULD PREVENT IT
FROH BEING WRITTEN INTO BECAUSE

WE ARE USING A DATOB INSTRUCTION.

sNOW EXAMINE THE

:STATUS REGISTER.

sFIX SGDDAT FOR ERROR TYPEOUT IF

:ANY RROR HAS OCCURRED, UPPER BYTE CLEARED.

sARE _ANY BITS IN THE UPPER BYTE
:OF THE STATUS REGISTER SET?
:BRANCH NEXT TEST IF UPPER BYTE=0.

;:538555555555888538888888>>> ERROR <<<$$$$5$555555555555535585553845%8

ERROR

1

;ERROR - WROTE INTO UPPER BYTE OF
sCLOCK'S STATUS WHEN
:DOING A DATOB TO THE LOW BYTE.

;:555583558555855558888888>>> ERROR <<<$$5555555555555555555553555535838

18:

SEQ 0026
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MACY11 30(1046) 16-DEC-82 15:42 PAGE 61
n *TEST THE LOW BYTE OPERATION OF CLOCK'S STATUS REGISTER

"'Qt".t!."'!t'tQ""ii"'i'.Q'Q.t"Q.Q.'Q.Q'Q..tt"'."'Qﬁittt

;+TEST 20 *TEST THE HIGH BYTE OPERATION OF A'S STATUS REGISTER

*UE CAN SUCCESSFULLY WRITE EVERY BIT IN STATUS REG A
'NOU LETS CHECK THE BYTE OPERATION OF THIS REGISTER.

shttttktttttd ARttt bt OeRERREORROROARARARAOAARAARNAACCEROARAAARGGCEROORNY

t§120:  SCOPE
MoV #50,STIMES ;:00 50 ITERATIONS
CLR AASR ;CLEAR THE STATUS REGISTER.
INC ASR ;ADD #1 TO THE STATUS REGISTER'S ADDRESS

:SO THAT WE WILL BE WRITING INTO
;THE HIGH BYTE.

Move #177313,3ASR :TRY WRITING ALL BITS IN THE STATUS
REGISTER, LOGIC SHOULD PREVENT THE LOW
;BYTE OF THE STATUS REGISTER FROM
:BEING WRITTEN INTO BECAUSE WE ARE USING
:A DATOB INSTRUCTION WITH AOO SET.

IX ADDRESS OF THE STATUS REGISTER ADDR.
O WE CAN LOOK AT THE WHOLE WORD.

EAD BACK WHAT THE STATUS REG, CONTAINS

IX SGDDAT FOR ERROR TYPEOUT IF AN ERROR

DEC ASR

MOV @ASR,SBDDAT
MOV $BDDAT,SGDDAT

A TIETE 'R TR N T
OTM1DNTM

CLRB $GDDAT :OCCURRED, LOWER BVTE CLEARED.
1ST8 $BDDAT ;IS LOWER BYTE CLEAR
BEQ 13 :BR IF YES TO NEXT SUBTEST

5:33585555553535583885888888>>> ERROR <<<$$$535535555555555355555538858S
ERROR 1 :ERROR = WROTE INTO LOWER BYTE
sOF CLOCKS STATUS REGISTER WHEN
:DOING A DATOB TO THE HIGH BYTE.
$:9588558555588553588888888>>> ERROR <<<$$$355555555555555855555353538338

1%:

SEQ 0027
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c.3
KW‘HA DI?AGWSYIC M%I?;C;;l-CMHA-A MACY11 30(1046) 16-DEC-82 15:42 PAGE 62

' CNKWAA . P1 16-DEC-8 120 «TEST THE HIGH BYTE OPERATION OF A'S STATUS REGISTER SEQ 0028

2‘}%3 . - A 2233233333333 2232332323333 3 3333233333333 33 3333333333332 333332333223]

3 S+TEST 21 «TEST CLOCK'S COUNT REGISTER WITH 125252 PATTERN

(3) 22 L 3333223223323 3303323332033 3233323332333 2333233333333 2323323233323233232323322]

gg; 004246 000004 f5121: SCOPE
6%26 004250 012737 000100 001160 MOV #100,$TIMES ::00 100 ITERATIONS
6141 006256 005077 175114 CLR FASR ;SELECT MODE 0.
6142 006262 012777 125252 175110 MOV #125252,3ABR .LOAD THE BUFFER aecxsrta WITH
614 TTERN 125252. IT WILL BE
6144 raAnsreaueo 10 rue couur REGISTER
6145 :SINCE THIS IS MODE 0.
2}:9 004270 052777 000001 175100 BIS #B1T0,3ASR :SET GO BIT(ALLOUS BUFFER=COUNT REG XFER).
6148 004276 012737 125252 (C01124 MOV #125252,8GDDAT :SET EXPECTED TO PATTERN IN CASE OF
6149 :NEED OF ERROR TYPEOUT.
6150 004304 017746 175066 MOV 3ASR,=(6) ISAVE CSR

(1) 004310 011637 001424 MOV (6),$THP3 :/GET CSR.

(1) 004314 042737 177707 001424 BIC #177707,8THP3  :/SAVE RATE BITS.

(1) 004322 052737 004005 001¢24 BIS #BIT11!BIT2'BITO.S$TMP :/SET MODE 2, NO RATE,DISABLE INTERNAL OSC

(1) 004330 013777 001424 175040 MOV $TMP3,3ASR /LOAD CSR.

(1 :/THIS mUST BE DONE IN

(M :/ORDER TO XFERR COUNTER

(1) :/T0 BUFFER ON ST

(1) 004336 052777 001000 175032 BIS #B1T9,3ASR :/GENERATE ON ST2 PULSE

(1) 004344 017737 175030 001126 MOV @ABR, $BDDAT IREAD THE PRESET BUFFER,

(1) :/PREVIOUS COUNTER

(1) 004352 012677 175020 MOV (6)+,3ASR :/CONTENTS ARE IN $BDDAT.
6{;: 004356 005737 001126 ST $BDDAT :/RESTORE CSR
6152 004362 023737 001124 001126 cMP $SGDDAT,$BDDAT  :DID ALL THE BITS AND NO OTHER BITS
6153 :COME THROUGH?
2};; 004370 001401 BEQ 13 :BR IF YES TO NEXT TEST.
6156

::$55838558535583588888888>>> ERROR <<<$$$$355355333558335533355833838S
6157 004372 104005 ERROR S :DATA ERROR CLOCK = PATTERN **125252"*
6158 :FAILED TO TRANSFER PROPERLY BE TWEEN
6159 :BUFFER AND COUNT REGISTERS.
H
;18588558558 38338588888888>>> ERROR <<<$$33555338553533335553355538838$

6162 004374 1$:
6163
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KWV11A DISAGNOSTIC MAINDEC=11=CNKWA=A mcm 30(1046) 16=DEC-82 ~15:42 PAGE 63
' CNKWAA P11 1e-oec-85 15:38 Tl «TEST CLOCK'S COUNT REGISTER WITH 125252 PATTERN SEQ 0029
|
: g}gz t'ttQttttttttlt'ttttttt'ttttt.ttttQ'ttttttttt.tttitttttttttt'tt
LU®) --rssr 22 «TEST CLOCKS COUNTER REGISTER WITH 052525 PATTERN
| (3) 2 i3 ai3 3233233222222 3333 33 233233333333 333323333333332323323% 3.
| 55; 004374 000004 t8122:  SCOPE
6%)7 004376 012737 000050 001160 MOV #50,8TIMES ;300 50 ITERATIONS
6168 004404 005077 174766 CLR 3ASR ;SELECT MODE 0
6169 004410 012777 052525 174762 MOV #052525,3ABR °LOAD THE agnen nwsren WITH
6170 TTERN 052525. IT WILL BE
6171 mmsrsauso TO THE COUNT REGISTER
6172 :SINCE THIS IS MODE 0.
gm 004416 052777 000001 174752 BIS #81T0,3ASR *SET BO BIT(ALLOWS BUFFER-COUNT REG XFER).
6175 004424 012737 052525 001124 MoV #052525,$GDDAT ;SET EXPECTED TO PATTERN IN CASE OF
6176 :NEEC OF ERROR TYPEOUT.
6177 004432 0177646 174740 MOV aasn -(6) ISAVE CSR
(1) 004436 011637 001424 MOV ), $TMP3 :/GET CSR.
(1) 004442 042737 177707 001424 BIC mmr $TMP3  :/SAVE RATE BITS.
(1) 004450 052737 004005 001424 BIS mnvénz-mo $TMP3 ;/SET MODE 2, NO RATE,DISABLE INTERNAL 0SC
(1) 004456 013777 001424 174712 MOV $TMP3.3 :/LOAD CSR.
M ;/THIS MUST BE DONE IN
RH :/ORDER TO xrm Soumen
%H :/T0 BUFFER ON
(1) 004464 052777 001000 174704 BIS #8179, 3ASR +/GENERATE ON srz PULSE
m 004472 017737 174702 001126 MOV 3ABR, $BDDAT '35231"‘ r&eg BUFFER,
(1) 004500 012677 174672 MOV (6)+,3ASR S/CONTENTS ARE IN SBDDAT.
6;% 004504 005737 001126 ST $BDDAT :/RESTORE CSR
6179 004510 023737 001124 001126 CMP $GDDAT,$BDDAT oxr ALL THE BITS AND NO OTHER BITS
6180 CCME THROUGH?
gm 004516 001401 BEQ 13 :BR IF YES TO NEXT TEST.
6183
::$8888853555838588888888>>> ERROR <<<$$3$335335885533855551 $5833888S
6184 004520 104005 ERROR § :DATA ERROR CLOCK = PATTERN *052525"
6185 :FAILED TO TRANSFER PROPERLY BETWEEN
g}gg :BUFFER AND COUNT REGISTERS.
6188
;:$53855558558835838588888>>> ERROR <<<$$$3$5535553553533355335838888$
6189 004522 1$:
6190
6197
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000004
012737

005037
012777

000005
017737
001402

104002

000413
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001410
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PAGE 64
T2 *TEST CLOCKS COUNTER REGISTER WITH 052525 PATTERN
P L L LT T T T T T LT T T T T T ey
s*TEST 23 *TEST THAT INIT CLEARS STATUS REGISTER

.Q

s*TESTING OF iHE INIT LOGIC AS RECEIVED FROM THE QBUS AND BUFFERED
s*TO STATUS REGISTER F/FS.

.

e
sehttttAARARANRRARARCECRERECRRECORRRAOAOARCOREANCOACEAARROANCOOAROACOCORTS

T§123: SCOPE

MOV #5,8TIMES ::D0 5 ITERATIONS

CLR S$GDDAT sEXPECTED DATA IS ZERO.

MOV #77777,3ASR sSET ALL BITS IN THE STATUS REG.
RESET sSYSTEM INITIALIZE.

MOV @ASR, $BODAT sREAD THE STATUS REG., ALL BITS SHOULD
sHAVE BEEN CLEARED BY INIT.
BEQ 1$ sBR IF YES TO NEXT TEST.

::$85588555853855888888888>>> ERROR <<<$$$$55$5358553555585355385383888S

ERROR 2 sERROR = SYSTEM INIT FAILED TO CLEAR
sSTATUS REGISTER CLOCK A.

2:985555555555555855888888>>> ERROR <<<$3535355353555555355535555585385338S

1 EBR TST24 33
. ST EXS ;TEST EXTERNAL SIGS?
BEQ TST24 s
BIS #BIT11'81712!'81710,3DR2 ;ENABLE ST1,ST2 TO LATCH.
BIT #6,30R :S71,ST2, OVERFLOW SET?
BEQ 15724 i
;:$3888$858558885838888888>>> ERROR <<<$3$3$3535533535535553538585888S

ERROR 6 sINIT FAILED TO CLEAR
25T1,ST2, AND/OR OVERFLOW

;:99555558553855855858858888>>> ERROR <<<$555555555555535555855553833838

SEQ 0030
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'KWVI1A DISAGNOSTIC MAINDEC=11=CNKWA=A MACY11 30(1046) 16-DEC-82 15:42 PAGE 65
CNKWAA.P11  16-DEC-82 15:38 T2 «TEST THAT INIT CLEARS STATUS REGISTER SEQ 0031
gzzgg ;:tQQQttttttt'.tt!"t"""'.t"ttQttt'ttttttt.tt'ttttttttttttttt
g; S*TEST 24 «TEST THAT INIT CLEARS BUFFER REGISTER
:t
(%) :«THIS TEST IS DESIGNED TO SEE IF “INIT W'
(%) :«CLEARS THE BUFFER REGISTER. WE ALREADY
%23 ;*KNOW IT CLEARS THE STATUS REG.
(3) : 2 A 3i33333333233333233003303333233333333333333333323233233332332323323233333]
g; 004610 000004 tS§T24: SCOPE
65133’ 004612 012737 000005 001160 MOV #5,STIMES ::00 5 ITERATIONS
6240 004620 005037 001124 CLR $GDDAT :CLEAR EXPECTED DATA.
2222} 004626 012777 177777 174546 MOV M77777,9ABR  :SET ALL BITS IN THE BUFFER REGISTER.
25243. 004632 000005 RESET :ISSUE SYSTEM INITIALIZE.
6245 004634 017737 174540 001126 MOV @ABR, $BDDAT ;READ THE BUFFER REGISTER, ALL BITS
6246 :SHOULD HAVE BEEN CLEARED BY INIT.
gg 004642 001401 BEQ 13 :BR IF YES TO NEXT SUBTEST.
6249
;88883558558 5583885888888>>> ERROR <<<$$$$33335355358355358358358388S
6250 004644 104003 ERROR 3 ;ERROR = SYSTEM INIT FAILED
222? :TO CLEAR BUFFER REGISTER A.
625
::$55355555555533858888888>>> ERROR <<<$$$333555355555333$5335355553838S
6256 004646 18:
6255 004646 005737 001440 TST EXS :TEST EXTERNAL SIGS?
6256 004652 001403 BEQ TST25 ‘s
6257 004654 052777 016000 174534 BIS #81T11:81712'81710,30R2 ;ENABLE THEM
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174476
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MACY11 30(1046) 16-DEC-82 15 42 PAGE 66
124 «TEST THAT INIT CLEARS BUFFER REGISTER

sottttrRtRRtRRNRRARRCCOCCORCRCRECORORRERCRNRARAOANERARCNEAOEAACOOCOCOOOCOOTES

S+TEST 25 «TEST THE SETTING OF MAINTENANCE ST2 IN CLOCK BIT 15 TO SET

°tttIItt..tQ.Q'..Q"'Q.'."Q'Qt'.Q'Q‘QQQ'Q'Q.'.Q'..'Q.Q..Qt.'t't

t5125: SCOPE
MOV #1,3ASR
BIS #81T9,3ASR *SET MAINTENANCE ST2.
ST 3ASR :DID BIT1S (ST2 FLAG) SET?

BM] 1$ :BR IF YES = NEXT TEST
::$85585555585555555888888>>> ERROR <<<$$553355555553355553355558555SS
ERROR 1 ;ERROR = MAINTENANCE ST2 (BIT9)

:DID NOT SET BIT1S (ST2 FLAG).

::$85585555855858888888888>>> ERROR <<<$$$5555553558555553558833533588S

B8R TST26
18: ST EXS iesr EXTERNAL SIGNALS?
BEQ TST26
BIT #B81T2,30R oxo EXTERNAL ST2 GET SET?
BNE TST26 3
;3585858558 55853838888888>>> ERROR <<<$$$$3355335853823¢5885858555388S
ERROR 6 :ST2 OUT NOT DETECTED
:BY TESTOR

;:995585555855855555888888>>> ERROR <<<$3$555$535555355555553555553838388S

:SET THE GO BIT(ENABLES ST2 TO SET FLG).

SEQ 0032
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6-DEC 15:38 T2

*TEST THE SETTING OF MAINTENANCE ST2 IN CLOCK BIT 15 TO SET SEQ 0033

chtRtNRRRARRERRRRRRERRCRERRRRERERRRRARRRRRORACRRRRRRRRCRRCRRROSTRORNTS

TEST 26 *TEST THAT BITOO IN CLOCK STATUS REG. WILL SET WHEN BITi3 AND MAIN. ST2

sttt RRRRRRRRRRRRCRRRRRERERORERRRRRRRRRRRRRRRRRRRORRRRRRCEERRCRCOREYTY

i
T5126: SCOPE

174434 MOV #BIT13,3ASR sSET _"'ST2 ENB COUNTER'' IN CLK STATUS REG.
174426 BIS #B1T9,3ASR :GENERATE A MAINTENANCE ST2.
174420 BIT #81700,3ASR :DID BITOO (GO) SET?

BNE 1% :BR IF YES = NEXT TEST.

::9955558558558535858858888>>> ERROR <<<$$$5555555555555553555555555838S
ERROR 1 sERROR - BITO0 OF CLOCK'S S!AYUS REGISTER

;FAILED TO SET WHEN BIT13 WAS S
:AND A MAINTENANCE ST2 GENERAYED.

323333333333 33 333323323332 ML ERELE2$333333338 3333233333333 3333333 39

1$: CLR @ASR sLEAVE SUBTEST WITH CLOCK CLEAR.
.SBTTL =
.SBTTL +PHASE 3 COUNT TESTS
LSBTTL =
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KWVI1A DISAGNOSTIC MAINDEC=11=-CNKWA=A MACY11 30(1046) 16-DEC=82 15:42 PAGE 68 .
CNKWAA.P11  16-DEC-82 15:38 . SEQ 0034
6307
6308 ::tttt.tttttttttQ't"tttQtttitt.tt'ttttQt'.Qt'ttt.'t.ttt'.t.ttt.t
3 SeTEST 27 «TEST TO SEE IF THE COUNTER WILL INCREMENT
(3) 1 L2 2 3 3133323323233 2232233332223 2133333332323 2333333 3323333332333
(2) 004766 000004 T5127: SCOPE
6310 004770 005077 174402 CLR 3ASR :CLEAR THE CSR.
6311 004774 005077 174400 CLR 3ABR :CLEAR THE BUFFER
6312 005000 052777 000061 174370 BIS #BITS!'BIT4!BITO,3ASR :SET RATE:ST1, GO.
6313 005006 052777 000400 174362 BIS #81T78,3ASR :GENERATE A MAINTENANCE ST1.
6314 :DID THE CLOCK COUNT?
6315 005014 017746 174356 MOV 3ASR,-(6) :/SAVE CSR
(1) 005020 011637 001424 MOV (6),$TMP3 :/GET CSR.
(1) 005024 042737 177707 001424 BIC #177707.8TMP3  :/SAVE RATE BITS.
(1) 005032 052737 004005 001424 BIS #BITI1'BIT2'BITO.STMPS ;/SET MODE 2, NO RATE,DISABLE INTERNAL 0SC
(1) 005040 013777 001424 174330 MOV $TMP3,3ASR :/LOAD CSR.
N :/THIS MUST BE DONE IN
(1) :/ORDER TO XFERR COUNTER
) :/T0 BUFFER ON ST2.
(1) 005046 052777 001000 174322 BIS #8179, 3ASR :/GENERATE ON ST2 PULSE
(1) 005054 017737 174320 001126 MOV @ABR, $BDDAT :/READ THE PRESET BUFFER,
R} :/PREVIOUS COUNTER
(1) 005062 012677 174310 MOV (6)+,aASR :/CONTENTS ARE IN SBDDAT.
(1) 005066 005737 001126 ST $BDDAT :/RESTORE CSR
gg}g 005072 001001 BNE 1 :YES, NEXT TEST.
;:888855853538535838388888>>> ERROR <<<$$3533555535555535553535538838$
gg}g 005074 104006 ERROR 6 ;CLOCK FAILED TO INCREMENT.
6320

;:955558555855885588588388>>> ERROR <<<$$55$55553555555355555385553388S
6321 005076 18:
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KWV11A DISAGNOSTIC MAINDEC=11=CNKWA=A MACY11 30(1046) 16-DEC=82 15:42 PAGE 69
CNKWAA.P11 16=-DEC-82 15:38 127 «TEST TO SEE IF THE COUNTER WILL INCREMENT SEQ 0035
2;3 33 1 2323322233333 3233232232223 2222223332333 3333323333233 33X33323323%3
{2; ;*TEST 30 «SEE IF CLOCK WILL COUNT UP FROM A ZERO BASE, RATE:ST1
-
(%) ie NOTE: IN THIS TEST, LOOP ON ERROR WILL CAUSE A LOOP
() e ON THE FAILING COUT PATTERN;
W) i WHILE LOOP ON TEST WILL START THE TEST
o i AND THE CLOCK FROM ZERO TO THE FAILING COUNT.
| ..
' (3) :: (23 2332323223332 2332222222 232233 2 i 333 3332331323332 3233%¢%81
t :g; 005076 000004 TS130: SCOPE
q 6;;1 005100 012737 000010 001160 MOV #10,STIMES ::D0 10 ITERATIONS
| 6335 005106 005077 174264 CLR @ASR :CLEAR THE CSR.
6336 005112 005077 174262 CLR SABR :CLEAR THE BUFFER REG
6337 005116 012737 000000 001124 MOV #0,SGDDAT :CLEAR EXPECTED.
g;gg 0051264 012737 005266 001110 MOV #2%, SLPERR
2;2? 005132 052777 000061 174236 18: BIS #BI1TS'BIT4'BITO,3ASR ;START CLOCK, RATE:ST1.
6342 005140 052777 000400 174230 BIS #B1T8,3ASR :GENERATE A MAINTENANCE ST1
6343 :CLOCK SHOULD COUNT ONCE.
6344 005146 005737 001440 ST EXS sTEST EXTERNAL SIGNALS?
6345 005152 001406 BEOQ 108 *NO
6346 005154 032777 000002 174232 BIT #81T1,30R :YES = DID ST1 GET SET?
23323 005162 001002 BNE 108 *YES
;:$55853855355553588888888>>> ERROR <<<$$$3335333$35535553585553553388$
6349 005164 104006 ERROR 6 :ST1 OUT NOT DETECTED
ggg? :BY TESTOR
::$85855355538555588888888>>> ERROR <<<$$$$55533555535553555355833858S
6352 005166 000447 BR TST31 33
6353 005170 108:
6354 005170 017746 174202 MOV 3ASR,=(6) :/SAVE CSR
(1) 005174 011637 001424 MOV (6),$THP3 :/GET CSR.
(1) 005200 042737 177707 001424 BIC #177707,8THP3  :/SAVE RATE BITS.
(1) 005206 052737 004005 001424 BIS #BIT11'BIT2'BITO.STMP3 :/SET MODE 2, NO RATE,DISABLE INTERNAL 0SC
(1) 005214 013777 001424 174154 MOV $TMP3,3ASR :/LOAD CSR.
%)) :/THIS MUST BE DONE IN
(1) :/ORDER TO XFERR COUNTER
(1 :/T0 BUFFER ON ST2.
(1) ooszg 052777 001000 174146 BIS #B179,3ASR :/GENERATE ON ST2 PULSE
(1) 005230 017737 174144 001126 MOV @ABR,$BDDAT :/READ THE PRESET BUFFER,
(1) :/PREVIOUS COUNTER
(1) 005236 012677 174134 MOV (6)+,3ASR :/CONTENTS ARE IN $BDDAT.
(1) 005242 005737 001126 ST $BDDAT :/RESTORE CSR
355 005246 005237 001124 INC $GDDAT :COUNT=0LD COUNT+1
6356 005252 023737 001124 001126 CMP $GDODAT,$BDDAT  :COUNT READ=COUNT EXP'ED?
g;g; 5260 001402 BEQ 28 :YES = SEE IF WE'RE THROUGH.
::$85858555538555588588588>>> ERROR <<<$$$3$33535853353335553353855338S
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16-DEC-82 15 42 PAGE 69-1

*SEE IF CLOCK WILL COUNT UP FROM A ZERO BASE, RATE:ST1

ERROR 11 ;CLOCK FAILED TO COUNT UP PROPERLY.
::$$SS55S55SSSSSSSSSE888>>> ERROR <<<$$$$$3$$$$$5$55$55535555555835SS
BR 3s :GOTO SCOPE LOOP.
28: CLR AASR
MOV $GDDAT, 3ABR
TST $GDDAT ;ALL DONE?
- BNE 1$ *NO DO NEXT INCREMENT. )
'QQtQQQ'Q.QQ.'Q"Q'QQ"i."'ttt.tttt.it.itttttitti..ttiitt'ttt.
SSTEST 31 «TEST THAT OVERFLOW (CSR BITO7) WILL SET ON OVERFLOW
'Qttt.t'."..".."".'"'."'..'....ﬁt.'Q.t..ﬁtl.'t..'..*i.itt'
7ST31: SCOPE
ST EXS ;TESTOR MODE ENABLED??
BEQ 28 *NO-THEN SKIP NEXT SECTION OF CODE.
CLR ar170500 :CLEAR TESTOR A/D
13 ar170502 :DUMB READ OF A’/D BUFFER.
BIS #BITS,3#170500 :ENABLE EXTRENAL START OF A/D.
- MOV ..RO :SET TIME OUT NUMBER.
) CLR 3ASR :CLEAR THE CSR
MCV #-1,3ABR *SET PRESET BUFFER TO ALL ONES.
BIS #BITS!BIT4'BITO,@ASR :START CLOCK, RATE ST1.
BIS #BIT8,3ASR :COUNT CLOCK ONCE, OVERFLOW
:SHOULD OCCUR.
TSTE  3ASR :DID OVERFLOW SET?
BMI 1 SYES = THEN NEXT TEST

;:$855558555855358888588888>>> ERROR <<<$$53$5555555555355555535555555553S

BR
1%: TST

BEQ

1ST8

BMI
DEC
BNE

6 ;ERROR - OVERFLOW, CSR BITO?

1ST32 FAILED TO SET ON OVERFLOW

gg;sz EST EXTERNAL SIGNALS?

ar170500 lf OVERFLOW GOT OUT,IT GAVE A/D START,
1$132 UE RE LOOKING FOR A/D DONE-DID IT GET SET?
RO :DID WE ALLOW ENOUGH TIME??

1% sNO-THEN WAIT.

3333333333333 3333 333333330 LU 11 I0LL4333333333233333333333333333333 39

ERROR

6 ;OVERFLOW OUT NOT DETECTED
:8Y TESTOR

(3 3333333333333333333333 330 LU0 INECe 2233333232233 3 2232333 33323333 3339

SEQ 0036
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KWV11A Dl?AGﬂO?TlC HAIN?%C;}1-CNKUA-A ?gcvl1 30(1046) 16-DEC-82 15:42 PAGE 69-2

CNKWAA.P1 6~DEC-82 1 *TEST THAT OVERFLOW (CSR BITO7) WILL SET ON OVERFLOW SEQ 0037
6105
6406 JINRARRAR AR R A EE RN CE R LR AR AR R E RN E R AR CC RO RRCORRCRERR OO
L (3) ;*TEST 32 *TEST THAT OVERFLOW WILL CLEAR THE GO BIT
; (3) bbbttt AR AR AR R R AL L T I R L L
. (2) 005422 000004 t§7132: scope
6407
2283 005424 005077 173746 CLR @ASR ;CLEAR THE CSR.
g:}? 005430 012777 177777 173742 MoV #-1,3ABR sPRESET CLOCK TO -1.
g:}% 005436 052777 000061 173732 BIS #BIT5!BIT4!BITO,3ASR ;START CLOCK, RATE:ST1
6414 005444 052777 000400 173724 BIS #BIT8,3ASR sCOUNT ONCE, OVERFLOW
6415 s SHOULD OCCUR CLEARING
22}9 ;ENABLE (CSR BIT00)
6418 005452 032777 000001 173716 BIT #BIT0,3ASR ;DID THE ENABLE CLEAR?
2258 005460 001401 BEQ 1% sYES = NEXT TEST.
6421
;:953585555555538538888888>>> ERROR <<<$$55$555555355555555555535388888$
6622 005462 104006 ERROR 6 ;ERROR -~ OVERFLOW FAILED
g'-‘%}. :TO CLEAR ENABLE (CSR BIT00)
22%2 005464 18:
6427 H bbbttt d AL E A4 A i I e i e Y
(3) s*TEST 33 *TEST THAT GO BIT DOES NOT CLEAR ON OVERFLOW, IF MODE 1
(3) et a s A 22T EE 2 2 e L e e e e I T 2 L
(2) 005464 000004 TST33: SCOPE
6428
6429 005466 005077 173704 CLR @ASR sCLEAR THE CSR.
6430 005472 012777 177777 173700 MoV #-1,3ABR sPRESET BUFFER=ONE COUNT FROM OVERFLOW.
2225 005500 052777 000063 173670 BIS #63,3ASR sMODE 1, RATE:ST1, GO.
gzgz 005506 052777 000400 173662 BIS #BIT8,3ASR sGENERATE MAINTENANCE ST1.
6435 005514 032777 000001 173654 BIT #BI1T0,3ASR :DID ENABLE (GO BIT) CLEAR?
g:;? 005522 001001 BNE 1% :NO (GOOD) NEXT TEST.
;;3538555555553355555558888>>> ERROR <<<$355553355535355555335558538338
6438 005524 104006 ERROR 6 ;GO BIT CLEARED ON OVERFLOW
2228 ;WHEN MODE 1 WAS SELECTED
;:$558855555555353855888888>>> ERROR <<<$$$5533355533555555355858335338
6441
222% 005526 005077 173644 18: CLR @ASR sCLEAR THE CLOCK.
6489
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!KW“A DISAGNOSTIC HAIUEC-"-CNKUA-A MACY11 30(1046) 16-DEC-82 15:42 PAGE 69-3
lC'KUM.P‘Il 16-DEC-82 15:38 13 *TEST THAT GO BIT DOES NOT CLEAR ON OVERFLOW, IF MGDE 1 SEQ 0038

| 6490
|
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KWV11A DISAGNOSTIC MAINDEC-11-CNKWA-A MACYIT 30(1046) 16-DEC-82 15:42 PAGE 70

| CNKWAA .. P1 6=DEC=82 1 «TEST THAT GO BIT DOES NOT CLEAR ON OVERFLOW, IF MGDE 1 SEQ 0039
§:o%
(S) tttttttttttttttttt'tit'ttt'tttttttttttttttttttttttttttttitttttt
f?g -resr 34 «TEST THE ABILITY OF CLOCK TO COUNT AT 1MHZ RATE
(5) T
(5) S«THIS TEST IS oesxcneo TO TEST THE CLOCK'S ABILITY
gg; :«TO COUNT AT 1MHZ RATE.
%
(l.) :.ttttttttttttttttttttttttttttttttttttttttﬁtttttttttttttttttttttt
gg; 005532 000004 T$T34: SCOPE
gg; 005534 012737 000005 001160 MOV #5,STIMES ::D0 5 ITERATIONS
2)
(1) 005542 005077 173630 CLR 3ASR :/CLEAR CLOCK
(1) 005546 005077 173626 CLR aABR :/CLEAR PRESET BUFFER
(1) 005552 012777 000011 173616 MOV #BIT0'10,3ASR  :/START CLOCK, MODEQ, RATE:1MHZ
§}§ 005560 005000 CLR RO S/NOW WE'LL DO A LITTLE DELAY. THIS DELAY
(1) 005562 005200 1$: INC RO :/WILL AMOUNT TO APPROXIMATELY
g}; 005564 001376 BNE 1 :/369 MS.
(2) 005566 017746 173604 MOV 3ASR, =(6) :/SAVE CSR
(2) 005572 011637 001424 MOV (6),$THP3 :/GET CSR.
(2) 005576 042737 177707 001424 BIC #177707,8TMP3  :/SAVE RATE BITS.
(2) 005604 052737 004005 001424 BIS #BIT11'BIT2!BITO.$STMP3 ;/SET noos 2. NO RATE,DISABLE INTERNAL 0SC
(2) 005612 013777 001424 173556 MCV $TMP3,3ASR :/LOAD CSa
(2) :/THIS MUST BE DONE IN
(2) :/ORDER TO XFERR COUNTER
(2) :/T0 BUFFER ON ST2.
(2) 005620 052777 001000 173550 BIS #BIT9,3ASR :/GENERATE ON ST2 PULSE
(2) 005626 017737 173546 001126 MOV SABR, $BDDAT :/READ THE PRESET BUFFER,
(2) :/PREVIOUS COUNTER
(2) 005634 012677 173536 MOV (6)+,3ASR :/CONTENTS ARE IN SBDDAT.
(2) 005640 005737 001126 ST $BDDAT :/RESTORE CSR
(1) 005644 001004 BNE 23 :/YES = NEXT TEST.
(1) 005646 105766 177776 ISTB  =2(6) :/AT HIGH RATE MAY HWAVE HAD OVERFLOW
() :/NOTE: CSR HAD BEEN PUT ON STACK.
g}; 005652 100401 BMI 2s :/NEXT TEST IF OVERFLOW.
2)
;:$885855585355538558888888>>> ERROR <<<$355355553355535555335533553588$
(1) 00565¢ 104006 ERROR 6 :7CLOCK FAILED TO COUNT AT
:3: S /RATE : 1MNZ
| 2:$88555588355588888888888>>> FRROR <<<$$33555533355553385555353538388S
i Nn~gac . l“"‘:,"' 17‘51'. e 3 f' k-] "‘f. oty |a™ 9 Se ae

@ wEmEas L mmwse

L T
L
L I

-



P ——— — ———— o ——— — i ——— | —— e i i e o ——— e — — ——— ——— o ——— — o —— -  ———

1

B 4
KWV11A DISAGNOSTIC MAINDEC=11-CNKWA-A MACY11 30(1046) 16-DEC-82 15:42 PAGE 71

'CNKWAA.P11  16-DEC-82 15:38 T34 *TEST THE ABILITY OF CLOCK TO COUNT AT 1MHZ RATE - SEQ 0040
2
i (S) ' t"!t't."t'.ﬁ'Q'Q'i.'Q"Q'.'it't"'.'t"t'tt.'.""."t.'..it'
| f’;} SeTEST 35 «TEST THE ABILITY OF CLOCK TO COUNT AT 100KHZ RATE
(5) e
L (§) S«THIS TEST IS DESIGNED TO TEST THE CLOCK'S ABILITY
: g; :«TO COUNT AT 100KHZ RATE.
H %
i (l.) . .QtQttt'tttttQtt!ﬁ't"'t'Qttttit'.'t.tit.'t.tt'tttt't"ﬁ"iti't.
| §3) 005662 000004 TST35: SCOPE
| g; 005664 012737 000005 001160 MOV #5,$TIMES ;300 5 ITERATIONS
LM
. (1) 005672 005077 173500 CLR JASR :/CLEAR CLOCK
C (1) 005676 005077 173476 CLR 3ABR :/CLEAR PRESET BUFFER
| () 005702 012777 000021 173466 MOV #B170!20,3ASR /srm CLOCK nooeo RATE : 100KHZ
- (1) 005710 005000 (LR RO NOW WE'LL DO A LITTLE DELAY. THIS DELAY
| (1) 005712 005200 18: INC no :/um AMOUNT TO APPROXIMATELY
m 005714 001376 BNE 1 17369 MS.
(2) 005716 017746 173454 MOV aAsn -(6) :/SAVE CSR
(2) 005722 011637 001424 MOV ), $THP3 :/GET CSR.
(2) 005726 042737 177707 001424 BIC mhor stm :/SAVE RATE BITS.
(2) 005734 052737 004005 001424 BIS #BIT11!BIT2!BITO.$THP :/SET MODE 2, NO RATE,DISABLE INTERNAL OSC
(g) 005742 013777 001626 173426 MCV $TMP3,3ASR %oao SR.
(2) s /THIS MOS DONE IN
L@ -/onoen T0 xma Souum
| cg) /T0 BUFFER
(2) 005750 gsgm 001000 173420 BIS m AASR  7GENERATE on stz PULSE
8; 005756 017737 173416 001126 MOV R,$BDDAT '35331555 :nsse; BUFFER,
(2) 005764 012677 173406 MOV (6)+,3ASR :/CONTENTS ARE IN SBDDAT.
(2) 0057720 005737 001126 ST $BDDAT :/RESTORE CSR
(1) 005774 001004 BNE 23 :/YES = NEXT TEST.
(1) 005776 105766 177776 ISTB  =2(6) :/AT HIGH RATE MAY MAVE HAD OVERFLOW
(1) :/NOTE: CSR MAD BEEN PUT ON STACK.
m 006002 100401 BMI 28 $/NEXT TEST IF OVERFLOW.
(2)
;:988888588888388888888888>>> ERROR <<<$$3$33353353833855333838388888$
(1) 006004 104006 ERROR 6 :/CLOCK FAILED TO COUNT AT
8; : /RATE : 100KNHZ
| ;:8$8858585888388888888888>>> ERROR <<<$$$$33358353855355333838388838S
(1
! (M 006006 005077 173364 2s: CLR AASR :/CLEAR THE CLOCK.
! (1
|

et S -
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6498

6499

(S) ;;'ttttttttttttttttttttt'tt'Qtttttttt'ttttttttttt't'ttttt"tt't't
5‘5’3 S+TEST 36 «TEST THE ABILITY OF CLOCK TO COUNT AT 10KHZ RATE
(5) v

(5) :«THIS TEST IS DESIGNED TO TEST THE CLOCK'S ABILITY

g; :+TO COUNT AT 10KHZ RATE.

X

(‘) :;tt'QtttttQttt.tttttittttttQt"tttttttt.ttttt'ttttttttttttttt.tt
g; 006012 000004 T$136: SCOPE

g; 006014 012737 000005 001160 MOV #5,8TIMES ::00 5 ITERATIONS

1)

(1) 006022 005077 173350 CLR FASR :/CLEAR CLOCK
(1) 006026 005077 173346 CLR 3ABR :/CLEAR PRESET BUFFER
(1) 006032 012777 000031 173336 MOV #BI1T0'30,3ASR  :/START CLOCK, MODEO, RATE:10KHZ
m 006040 005000 CLR RO $/NOW WE'LL DO A LITTLE DELAY. THIS DELAY
(1) 006042 005200 18: INC RO :/WILL AMOUNT TO APPROXIMATELY

g ; 006044 001376 BNE 18 27369 MS.

(2) 006046 017746 173324 MOV 3ASR,=(6) ;/SAVE CSR

(2) 006052 011637 001424 MOV (6),$TMP3 :/GET CSR.
(2) 006056 042737 177707 001424 BIC #170707,8TMP3  :/SAVE RATE BITS.
(2) 006064 052737 004005 001424 BIS #BIT11'BIT2'BITO.$TMP3 ;/SET MODE 2, NO RATE,.DISABLE INTERNAL 0SC
(2) 006072 013777 001424 173276 MCV $TMP3,3ASR :/LOAD CSR.
(2) :/THIS MUST BE DONE IN
2) :/ORDER TO XFERR COUNTER
(2) :/70 BUFFER ON ST2.
(2) 006100 052777 001000 173270 BIS #BIT9,3ASR :/GENERATE ON ST2 PULSE
(2) 006106 017737 173266 001126 MOV @ABR,$BDDAT :/READ THE PRESET BUFFER,
(2) :/PREVIOUS COUNTER
(2) 006114 012677 173256 MOV (6)+,3ASR :/CONTENTS ARE IN $BDDAT.
(2) 006120 005737 001126 TST $BDDAT :/RESTORE CSR
(1) 006124 001004 BNE 28 :/YES = NEXT TEST.
(1) 006126 105766 177776 ISTB  =2(6) :/AT HIGH RATE MAY HAVE HAD OVERFLOW
(1) :/NOTE: CSR HAD BEEN PUT ON STACK.
m 006132 100401 BMI 2 :/NEXT TEST IF OVERFLOW.

(2)

::358555385555885588883888>>> ERROR <<<$$5$55553555535335553555333833888

(1) 006134 104006 ERROR 6 ;/CLOCK FAILED TO COUNT AT
g;; s /RATE : 10KHZ
;:5555855555535855885888888>>> ERROR <<<$$$5558555555555585335353353838
006136 005077 173234 2%: CLR @ASR :/CLEAR THE CLOCK.
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CNKWAA.P11 16-DEC-82 15:38 36 «TEST THE ABILITY OF CLOCK TO COUNT AT 10KHZ RATE SEQ 0042
- 6501
6502
(S) ttttttttttﬁttttttitttt'tt'ttt.tttitt'tt'ttttttt'ttttt'ttttt'ttt

'TEST 37 *TEST THE ABILITY OF CLOCK TO COUNT AT 1KHZ RATE

tTHlS TEST IS DESIGNED TO TEST THE CLOCK'S ABILITY
tTO COUNT AT 1KHZ RATE.

tt..t.tt!Q.'.'.Q'Q.Qt."'."..'.!Q.Q..Q'.Q'QQ.Q.Q'.Q".Q'.Q'.Q'

(%)
(5)
(5)
(5)
(5
(5)
(4)
:g; 006142 000004 isrsr. SCOPE
gg; 006144 012737 000005 001160 MOV #5,STIMES ::00 5 ITERATIONS
%)
(1) 006152 005077 173220 CLR BASR :/CLEAR CLOCK
| (1) 006156 005077 173216 CLR 3ABR :/CLEAR PRESET BUFFER
L (1) 006162 012777 000041 173206 MOV #8170!40,3ASR -/srAnr CLOCK, MODEO, RATE:1KHZ
{}; 006170 005000 CLR RO NOW WE'LL DO A LITTLE DELAY. THIS DELAY
(1) 006172 005200 18: INC RO ;/WILL AMOUNT TO APPROXIMATELY
m 006174 001376 BNE 13 17369 MS.
(2) 006176 017746 173174 MOV SASR,=(6) :/SAVE CSR
(2) 006202 011637 001424 MOV (6) ,$TMP3 :/GET CSR.
(2) 006206 042737 177707 001424 BIC #177707,8TMP3  :/SAVE RATE BITS.
(2) 006214 052737 004005 001424 BIS #BIT11!BIT2'BITO.STMP3 ;/SET MODE 2, NO RATE,.DISABLE INTERNAL 0SC
(2) 006222 013777 001424 173146 MCV $TMP3,3ASR :/LOAD CSR,
(2) :/THIS MUST BE DONE IN
(2) :/ORDER TO xrenn sounren
(2) :/T0 BUFFER
(2) 006230 052777 001000 173140 BIS #B1T9,3ASR :/GENERATE ON srz PULSE
(2) 006236 017737 173136 001126 MOV @ABR, $BDDAT :/READ THE PRESET BUFFER,
(2) :/PREVIOUS COUNTER
(2) 006246 012677 173126 MOV (6)+,3ASR :/CONTENTS ARE IN $BDDAT.
(2) 006250 005737 001126 ST $BDDAT :/RESTORE CSR
(1) (062564 001004 BNE 2s :/YES = NEXT TEST.
(1) 006256 105766 177776 ISTB  =2(6) :/AT HIGH RATE MAY HAVE HAD OVERFLOW
(1) :/NOTE: CSR HAD BEEN PUT ON STACK.
;}; 006262 100401 BMI 2 :/NEXT TEST IF OVERFLOW.
(2)

5:958855555558585558888888>>> ERROR <<<$$$5$5355355555553355353353383383

(1) 006264 104006 ERROR 6 s/CLOCK FAILED TO COUNT AT
g;; : /RATE : 1KHZ

;:$58555558555585888888888>>> ERROR <<<$$5$$555585555555353555383383888

006266 005077 173104 2s: CLR @dASR :/CLEAR THE CLOCK.
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CNKWAA. P11 6~DEC-82 15:38 3 «TEST THE ABILITY OF CLOCK TO COUNT AT 1KHZ RATE SEQ 0043
| 30
(S) F+ 'ttt.tttttttttt'."ii'Q"t""t'ttt'..ti'tt.tt't.'.t.t'tt'tttii.
?s'g SeTEST 40 «TEST THE ABILITY OF CLOCK TO COUNT AT 100MZ RATE
(5)
o (5) -nus TEST IS DESIGNED TO TEST THE CLOCK'S ABILITY
| g; -ro COUNT AT 100HZ RATE.
i (‘) ' 't.t.t'tt'ttttti.'i't"""'Q"Q'Qttt.'.t'i""'.'tt'i'..'Q"'QQ
! g; 006272 000004 TS§140: SCOPE
&»; 006274 012737 000005 001160 MOV #5,STIMES ::D0 S ITERATIONS
(1)
(1) 006302 005077 173070 CLR AASR ;/CLEAR CLOCK
(1) 006306 005077 173066 CLP SABR :/CLEAR PRESET BUFFER
(1) 006312 012777 000051 173056 MCV #BITO!S0,3ASR  :/START CLOCK, MODEO, RATE:100HZ
m 006320 005000 CLR RO :/NOW WE'LL DO A LITTLE DELAY. THIS DELAY
(1) 006322 005200 18: INC no ;/WILL AMOUNT TO APPROXIMATELY
m 006324 001376 BNE 17369 MS.
(2) 006326 017746 173044 MOV aasa -(6) -/save CSR
(2) 006332 011637 001424 MOV ), $THP3 :/GET CSR.
(2) 006336 042737 177707 001424 BIC mho7 $TMP3  :/SAVE RATE BITS.
(2) 006344 052737 004005 001424 BIS mm'anz-sno.sm :/SET MODE 2, NO RATE,DISABLE INTERNAL 0SC
(2) 006352 013777 001424 173016 MCV $TMP3,3ASR :/LOAD CSR.
(2) :/THIS MUST BE DONE IN
2) :/0RDER TO XFERR Sounren
(2) :/T0 BUFFER ON ST
(2) 006360 052777 001000 173010 BIS #BIT9,3ASR :/GENERATE ON ST2 PULSE
g; 006366 017737 173006 001126 MOV am $BDDAT "2%231&'5 :&E’S‘ET BUFFER,
(2) 006374 012677 172776 MOV (6)+,aASR :/CONTENTS ARE IN SBDDAT.
(2) 006400 005737 001126 ST $BDDAT :/RESTORE CSR
(1) 006404 001004 BNE 2 :/YES = NEXT TEST.
(1) 006406 105766 177776 ISTB  =2(6) :/AT HIGH RATE MAY HAVE HAD OVERFLOW
(1) :/NOTE: CSR HAD BEEN PUT ON STACK.
f}; 006412 100401 8MI 28 :/NEXT TEST IF OVERFLOW.
(2)

::$55558558555555585588888>>> ERROR <<<$35555555555555555555555385388388

(1) 006414 104006 ERROR 6 s/CLOCK FAILED TO COUNT AT
g;; : /RATE : 100HZ

$:$95555558555555585888588>>> ERROR <<<$$$5555555555555555355558353338

006416 005077 172754 28: CLR @ASR s/CLEAR THE CLOCK.
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'CNKWAA.P11 16-DEC-82 15:38 140 «TEST THE ABILITY OF CLOCK TO COUNT AT 100HZ RATE SEQ 0044
- &%
(S) - -ttt.tt'ttt.tttttt.tt.tt"'Qttttttiitttttt..Qt't.'...!.".tl.."
§§§ S+TEST 41 «TEST THE ABILITY OF CLOCK TO COUNT AT LINEFREQ RATE
3]
(5) -ruxs TEST IS DESIGNED TO TEST THE CLOCK'S ABILITY
{23 --to COUNT AT LINEFREQ RATE.
(‘) . ttt'tt'ttttttttt"tttt"tt'ttttttt'tt.tttttttttttttttttttt.tttt
gg; 006422 000004 §t41. SCOPE
ggg 006424 012737 000005 001160 MOV #5,STIMES ::D0 5 ITERATIONS
(1) 006432 032777 010000 172500 BIT #BIT12,3SWR sSHALL WE TEST
1) LINE FREQ?
(1) -su12=1
5?3 006440 001450 BEQ TST42 i
(1) 006442 005077 172730 CLR 3ASR :/CLEAR CLOCK
(1) 006446 005077 2726 CLR SABR :/CLEAR PRESET BUFFER
(1) 006452 012777 000071 172716 MOV #8170!70,3ASR -/sranr CLOCK, MODEO, RATE:LINEFREQ
g}; 006460 005000 CLR RO NOW WE'LL DO A LITTLE DELAY. THIS DELAY
(1) 006462 005200 18: INC RO :MILL Anounr TO APPROXIMATELY
g}; 006464 001376 BNE 13 27369 MS
cg) 006466 017746 172704 MCV aAsu -(6) ISAVE CSR
(2) 006472 011637 0014624 MOV ), $THP3 /GET CSR.
(2) 006476 042737 177707 001424 BIC 0177707 $TP3  :/SAVE RATE BITS.
(2) 006504 052737 004005 001424 BIS #8I1T11!8112!B1T0.$TMP -/sn MODE 2, NO RATE.DISABLE INTERNAL 0SC
(2) 006512 013777 001424 172656 MOV $TMP3,3ASR /LOAD CSR.
(2) :/THIS MUST BE DONE IN
2) :/ORDER TO XFERR Sounren
(2) :/T0 BUFFER ON §
(2) 006520 052777 001000 172650 BIS #B1T19,3ASR :/GENERATE ON ST2 PULSE
(2) 006526 017737 172646 001126 MOV 3ABR,$BDDAT :/READ THE PRESET BUFFER,
(2) :/PREVIOUS COUNTER
(2) 006534 012677 172636 MOV (6)+,3ASR :/CONTENTS ARE IN $SBDDAT.
(2) 006540 005737 001126 ST $BDDAT :/RESTORE CSR
(1) 006544 001004 BNE 2$ :/YES = NEXT TEST.
(1) 006546 105766 177776 1ST8  =2(6) -m HIGH RATE MAY HAVE HAD OVERFLOW
(1 :/NOTE: CSR HAD BEEN PUT ON STACK.
:}; 006552 100401 8MI 2 : /NEXT tESt IF OVERFLOW.
(2)

5:5958558555835353588538888>>> ERROR <<<$$$555555555553555555355533853888

(1) 006554 104006 ERROR 6 s/CLOCK FAILED TO COUNT AT
:5; s /RATE:LINEFREQ

5:9555555855555585388885888>>> ERROR ~<<$3355555555555555555585553553888

006556 005077 172614 2%: CLR SASR s/CLEAR THE CLOCK.
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006656

§

006672
006676
006702

006704
006710
006712

006716

006720

006724

006752

012737

005077
005077

052777
052777
005000

005200
001376
017746

052777
017737

012677
005737
001003
105777
100003

005037

104011

005077

NDEC=11=CNKWA=-A
15:38

000020

172600
172576

000001
000400

172546

172452

1724644
177777

001160

172566
172560

172440
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*TEST THE ABILITY OF CLOCK TO COUNT AT LINEFREQ RATE

T41

sttt RRteRRd Rt R RO RCROCRRRERRRRRRRRRRRACORARORRROROCRRCROCORRORORETS

«TEST THAT COUNTER DOESN'T COUNT WHEN "‘SLAVE IN'' RATE IS SELECTED

ettt RRRRRCEARRRRCRRERRRRORRCRERRRARORRARARRRARCRACQCRERNGORCOOOROROOTETS

*TEST 42
L

i:t‘Z:

1%:

2$:

SCOPE
MOV

CLR
CLR

8IS

BIS
CLR

INC
BNE

MOV
MOV
BIC
BIS
MOV

BIS
MOV

MOV
TST

BNE
TST8
BPL

CLR

#20,STIMES

@ASR
@ABR

#B1T0,3ASR
#BIT8,3<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>